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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271261
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592721211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find out the next term.

Qo6W, T13G, K7D, P9G,

Options:

1. = R21C
2. % J16Q)
3.v N13A
4. = F18C

Question Number : 1 Question Id : 54592721211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HITelT Ug ATT h |

QBW, TI3G, K/D, P9G,

Options:

1. = R21C
2. = J16Q
3. v N13A
4. = F18C

Question Number : 2 Question Id : 54592721212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the wrong term in the series.

IKM,OPS, TVX,ZBD

Options:

1. = IKM
2. v OPS
3. = TVX
4. = ZBD

Question Number : 2 Question Id : 54592721212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aieslon H Ield 9 ATd hITAT|

IKM,OPS,TVX,ZBD

Options:

1. = |[KM
2. v OPS
3. = TVX
4. = ZBD

Question Number : 3 Question Id : 54592721213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Following question is based on the given word.

If in ‘CULTURE’ vowels are replaced with its previous letter
and consonant are replaced with its next letter then how
many vowel are still there in the word?

Options:

1. ¥ One
2. TWO



3. = None
4. = Four

Question Number : 3 Question Id : 54592721213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fmafel@a ued fow a0 ersg 9 3maa §|

afe ‘CULTURE” # T@al T 38 U 38T & dcof T
ST & 3T =ASTel T 3T 379Tel 38T O §&of f&ar Srar & ar
eTsg H 37T T Tohdal TaX &7

Options:

1. v Tk
2. = &
3.« g G
4,

x TN

Question Number : 4 Question Id : 54592721214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1. = Bat
2. v Ear
3. = Ink
4. = Dog

Question Number : 4 Question Id : 54592721214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fevw arv fasedt & fee 1 T4

Options:

1. = Bat



2. v Ear
3. = Ink
4, = Dog

Question Number : 5 Question Id : 54592721215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In each of the following questions, certain pairs of words are
given, out of which the words in all pairs except one, bear a
certain common relationship. Choose the pair in which the
words are differently related.

Options:

1. = Truck : Road
2. = Boat : River

3. = Rocket : Space
4. v Jet : Pilot

Question Number : 5 Question Id : 54592721215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fereafe@d wedsr weel &, o fAfRud ase G aw g, foea
T Th I BIZHT GAT SN2 F elsg T AeTd Araed o &)
39 ST Y el forqal erse a7eeT aig @ defad g

Options:

1. = gah: H3h
2. % oATd: olar
3. = Teha: IANE

4. v I : YEC

Question Number : 6 Question Id : 54592721216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.



Options:

1. = FH: L
2. » DF: HJ
3.v AC: EF
4.« MO : QS

Question Number : 6 Question Id : 54592721216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few a0 fasvedl # & fawHm S 0]

Options:

1. = FH : JL
2. = DF: HJ

3. v AC : EF
4. = MO : QS

Question Number : 7 Question Id : 54592721217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

Belt : LEATHER : : Sofa :

Options:

1. = Plastic
2. * Room
3. v Wood
4. = Door

Question Number : 7 Question Id : 54592721217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fFafa@a mead & U a0 [@redl # O gFeiedd
ET/SS/TTAT <hl gf&ul

sSoc: JHAST: T

Options:

1. = ToIEcHh
2. % ohET
3. v IR
4. = AT

Question Number : 8 Question Id : 54592721218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number {rom the given alternatives.

MOLECULE : ATOM ::

Options:

1. = Old: new
2. = Theory : postulate

3. » Experiment: invention
4. v Universe: Galaxy

Question Number : 8 Question Id : 54592721218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed U2l A T 97 [eredt # & graleud
ITETT/TSS/TTIT hi gﬁvl

HUT : YIHATOT
P N

Options:



1. % 9 o]

2. = THEIT : 3caar)
3. = TIET : 3AShR

4, v SEHATS : HTRIAIEM

Question Number : 9 Question Id : 54592721219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

AC:HJ: BD:
Options:

1. = ]
2. * NM
3.vIK
4. % ]I

Question Number : 9 Question Id : 54592721219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farTlellET weaT A XY 910 [¥eredl & O Trleyd
T/ TETT Tl gﬁvl

AC : HJ : BD :

Options:

1. = |J

2. = NM
3. v IK

4. = Jl



Question Number : 10 Question Id : 54592721220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For the following sentences given in column I, the codes are
given in column II. Answer the following questions by finding
the codes for the words form the given columns.

Column I Column IT

I do not cheat. xct fam mat sah

I win the gold medal | oap tok rissah bax
I am not the last Cay sah ris ula fam
Manav do notloose | Xct clk fam kel

What is the code for ‘cheat™?

Options:

1. = Xct

2. » fam
3. ¥ mat
4. = sah

Question Number : 10 Question Id : 54592721220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sl | # &0 a0 arew & fow, &ia# || # $e fGw arv g fow
AT FIeTH HI eea] & oV FT FehL ToFalel i weell & 3o
Zife

FletH 1 EOREI |
I do not cheat. xct fam mat sah
I win the gold medal | oap tok rissah bax
I am not the last Cay sah ris ula fam
Manav do not loose | Xct clk fam kel

‘Cheat”® foIT she Far &7



Options:

1. = xct
2. = fam

3. v mat

4. = sah

Question Number : 11 Question Id : 54592721221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, a group of letters is given which are
numbered 1, 2, 3, 4, 5 and 6. Below are given four alternatives
containing combinations of these numbers. Select that
combination of numbers so that letters arranged accordingly,
form a meaningful word.

ENOGRA
1 2 3 4% 56
Options:

1.4,6,3,5,2,1
2.v3,5,6,2,4,1
3.24,06,5,2,3,1
4.%5,2,3,1,6,4

Question Number : 11 Question Id : 54592721221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafeaf@a wear &, 38R &7 v dAg four wr &, o
JEar 1, 2, 3, 4, 5 3T 6 d fgU a0 &, s g&IT3T +
gATelel aTel I [Aheq U 910 & I&AT3 & 39 IIelel o
TS F ST e & HJAN cgafedrd g3 oeq vk sy
T oTdT @l

ENOGRA
1 2 3 4 56
Options:

1. = 4,6, 3, 5, 2, 1
2. v 3,5, 6, 2 4,1
3. = 4,6, 5, 2, 3, 1
4. = 5, 2,3, 1,6, 4

Question Number : 12 Question Id : 54592721222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, if the word ORGANISE 13 coded as
RAOESING, then how 1s the word PROGRESS coded in that
language?

Options:

1. « EGPSSERO
2. » RHPSTERO
3. * GRPSSERO
4. v RGPSSERO

Question Number : 12 Question Id : 54592721222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tk Tofeaa hc HTNT 7, ORGANISE 152 &I RAOESING &
&7 H HIfsd Toar oar &, df PROGRESS esg &I 39 #T9T #
S HIfsd forar Srar §7

Options:

1. = EGPSSERO
2. » RHPSTERO
3. = GRPSSERO
4. v RGPSSERO

Question Number : 13 Question Id : 54592721223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eight friends P, R, T, V, W, ], F and K are sitting around a
circle facing the centre. T is third to the right of F and second
to the left of W. P and R are not neighbours of W. R is third to
the right of K. J is between W and K.

Which of the following is the correct position of T with
respect of K's position?

Options:

1. » Second to the left
2. » Third to the left

3. #» Third to the right
4. v Fourth to the left

Question Number : 13 Question Id : 54592721223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3 aad P, R, T, V, W, J, F 3T K sg &7 31T #g
Ueh o o ORI 3T &S Bl T, F & g & drewr AT W &+
S & gquar &1 P 3T R, W T skl @@r §l R, K % ™
e g J W 3R K & # 8

foreT & @ ey K 1 Rufa & gog # T Fr Rufa &2

Options:

1. = 9 & g
2. = §& & AT
3. » G & TMERT
4. v I G Tiar

Question Number : 14 Question Id : 54592721224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If (1) Rahul is taller than Shubham ; (ii) Komal is shorter than
Rahul; (ii1) Deva is taller than Ajay but shorter than
Shubham, then who among them is the tallest?

Options:

1. = Ajay
2. = Deva
3. v Rahul
4. » Komal

Question Number : 14 Question Id : 54592721224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ate (i) Tgel, [T a ot & (i) A, gl a o & (i)
ST, 31T & & &, Ak oA & Bler g, @ 397 § w4
e oET &7

Options:




1. = 31
2. = a4l

3. v gw
4. % HIHC

Question Number : 15 Question Id : 54592721225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five girls participated in a competition. Priya was ranked
lower than Sandhya. Vidya was ranked higher than Diksha.
Kiran's rank was between Priya and Vidya, Who is below
Sandhya. Who was ranked highest ?

Options:

1. = Kiran
2. = Vidya
3. v Sandhya
4. = Priya

Question Number : 15 Question Id : 54592721225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk UiaAfEar & U oIgfehar & e forar T Fr Siofr gear
q oA & fagarst gear & o &, @ S8 ¥ 3T A0l fHelr |
foreor f1 Yo o 3R faer & & & | e gafe Ao &
I

Options:

1. = feRToT
2. = Tagar
3. v T
4, = Toar



Question Number : 16 Question Id : 54592721226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A team of 3 players is to be selected from 7, Y, X, W, Vand U.
If X is selected, W cannot be selected. Z and U are either
selected together or not selected at all. In how many ways can
this team be selected?

Options:

1. =4
2.v0
3.%5
4. %9

Question Number : 16 Question Id : 54592721226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 Taenfsal hr vk @ & Z, Y, X, W, V 3T U @ Tl SiTel
g1 AT X T T ThAT SATAT &, dF W T THT SIGT TohaT ST

HhT &1 Z 3T U &1 A7 A Tk AT ol AT & A7 forepo
oTET AT ST &1 30 A KT Thdar TR @ T ST FehedT 87

Options:

1. = 4
2. v 6
3. = 5
4. = 9

Question Number : 17 Question Id : 54592721227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Pointing to Shikha and Nakul, Priya says, “Both are the
children of the only son of my grandfather. “If Shikha says,
that “I have as many brothers and sisters as Priya has,” then
how is Nakul related to Angel, who is a member of Priya’s
family?

Options:

1. = Brother

2. » Sister

3. = Either brother or sister
4. v Can't be determined

Question Number : 17 Question Id : 54592721227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WWH;W@FWEQINI cméigu oy sgdr & R 2
gl A SIETSi/aTelToll o Sehalld 8¢ o s<d gl Iie foraT
Fedl g Toh "AY 3d« & 91 3N &8« § oida fof T &« &)
dl @hel, Ustel & TohE Wb @FaTad gl St o o &
IRAT &7 Tk T&ET g7

Options:

1. % §T%

2. = Sgd

3. = IT Al AT AT F&a

4. v FATT AT TRAT ST Fehel

Question Number : 18 Question Id : 54592721228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the question below, there are three statements followed by
two conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:

I. All cups are plates.

II. Some plates are glass.
I11. All mugs are glass.
Conclusion:

I. Some glass are cups.
II. Some mugs are cups.

Options:

1. = Only conclusion I follows

2. = Only conclusion II follows

3. = Either conclusion I or II follows
4. v Neilther conclusion follows

Question Number : 18 Question Id : 54592721228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A few are wed A AT FUA R 3T g o TRy G v
g1 3TIRl T&T T F2qall hl T HAT & Hel & d gd AT
Jeat & fiea wdia 21 & Tl fasewt & afer e o=
Fifew o fow oo foshst & @ @l a1 Thaard 59 @ 37eperor
FIAT &, T3 I ATd dﬂrgﬁaﬁﬁl

EXIE

. T F9, Telc gl

I. 5 cole, femd g
. FHT AT, Fromg &
IGE=E

. & [emd, 7 g
. F& HaT, FY gl
Options:

1. = haol [oISehY | AELOT ] &
2. % haol oSy || 3TEOT AT &
3. * I A Tovhy | AT || 3HTEIOT LT &
4, v Rg fashy 3TaTEIoT GRIERGI]

Question Number : 19 Question Id : 54592721229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the following question, there is a statement followed by
two courses of action, numbered I and II. You have to assume
everything in the statement to be true to decide which of the
two suggested courses of action logically follows for pursuing

Statement:
Number of student suicides in India are increasing alarmingly.

Course of actions:
I. Cancel annual examinations.
I1. Suspend all the Vice Chancellors.

Options:

1. = Only I follows

2. = Only II follows

3. = Either I or II follows

4. v Neither I nor II follows

Question Number : 19 Question Id : 54592721229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T ued AU FUT & &g g g | 3T 1| &
3TIRT ST FUeT I Tcd ATl FT dF Flell & T o =T T
FRdle # & Hhid AT drfehes §T & Tl &l

o
T H ST cHEAT I T&AT Tdlellsh §7 8 ¢ @l o

. ¥ 9LTETTV T&
|l AT ?quHQ? N ECIERRCTY
Options:

1. * shael | 3eEOT FIAT g
2. = el || 3eTEOT FIAT &

3.« grar | arll 3HTEIOT ] Y
4. v o @ | AT o & |l 3TEIT FIAT B

Question Number : 20 Question Id : 54592721230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the option that will come in place of question mark and
complete the below series. This term 1s given as one of the
alternatives. Mark the correct alternative.

45, 54, 47, 63, 49, 72, 51, ?

Options:

1.+ 81
2. %71
3. %65



4. % 98

Question Number : 20 Question Id : 54592721230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

38 Tdehed T T FT S S A TS AT H Ve Teg &
STATE 37T T AWl T W R Ig I8 [Ghed & &7 # fer
IRT & Tar [Ahed FT TIT FL|

45, 54, 47, 63, 49, /2, 51, ?

Options:

1. v 81
2. % /1
3. = 65
4. = 98

Mental Ability2

Group Number : 2

Group Id : 5459271052

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group?: No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Mental Ability?2

Section Id : 5459271052
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 5459271262
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592721231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, one number is wrong in the series.
Find out the wrong number.

25,52,108, 214

Options:

1. = 25
2. % 52
3.% 214
4, v 108

Question Number : 21 Question Id : 54592721231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaf@a wear &, s/@er # U TCAT el &1 I TE&l
AT hITAT|

25, 52, 108, 214

Options:

1. = 25
2. = 52
3. = 214
4. v 108

Question Number : 22 Question Id : 54592721232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the odd number from the given options.

Options:

1. = 464
2.v 210
3. = 380
4. = 492

Question Number : 22 Question Id : 54592721232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

2w Irv Breur H O fHea H{sma«‘rgﬁl

Options:

1. = 464
2. v 210
3. = 380
4. = 492

Question Number : 23 Question Id : 54592721233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd numeral pair/group in each of the following
question.

Options:

1. = 78: 22
2. % 43157
3.%39:61
4.v45:63

Question Number : 23 Question Id : 54592721233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafali@d ucdsh uedl & OYH §&AT dTel I9A / THE FT IfU
|

Options:



1. = 78 1 22
2. = 43 : 57
3. ® 39 : 61
4. v 45 ; 63

Question Number : 24 Question Id : 54592721234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out from the following.

Options:

1. 12 :15:182
2.+ 13:11:145
3.« 17:9:155
4.+15:16: 240

Question Number : 24 Question Id : 54592721234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o @a & @ [/va 7ag fiev

Options:

1. = 12 : 15: 182
2. % 13 : 11 : 145
3.« 17 :9:155
4. v 15 : 16 : 240

Question Number : 25 Question Id : 54592721235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the option that is related to
the below bracketed number series.

(24, 40, 56)

Options:



1. = (18, 30, 36)
2. v (15, 25, 35)
3.5 (27,45,72)
4. =% (9,15, 18)

Question Number : 25 Question Id : 54592721235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafaiET ued A Qe a0 Baedt A @ 39 KAeheu afr?l:?ra’r
A foU §8AT & el § H&Y & &l

(24, 40, 56)

Options:

1. = (18, 30, 36)
2. v (15, 25, 35)
3. = (27, 45, 72)
4. = (9, 15, 18)

Question Number : 26 Question Id : 54592721236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following question.

8 13133
R
10|13 | ?

Options:

1. %9
2. % 23
3.+ 33
4 % 43



Question Number : 26 Question Id : 54592721236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GGG LG AT T&IT AT IS0

8 |17 | 33

I

1013 ] 7 |
Options:

1. = 9
2. % 23
3. v 33
4. = 43

Question Number : 27 Question Id : 54592721237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Glven interchanges: signs - and x, and numbers 8 and 4; then
the valueof 4+ 2 + 2 x 8- 3 1s:

Options:

1.%5
2.v -3
3.5 4
4, % -4

Question Number : 27 Question Id : 54592721237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu a7 gror [fedA: ”eg- 3N x, 3N gwar 8 3N 4; ar 4
+ 2+ 2 x 8 -3 F A &

Options:

1. = 5
2. v -3



3. = 4
4. = -4

Question Number : 28 Question Id : 54592721238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the question given below, there is a statements followed by
two conclusions. You have to take the given statement to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:
P>Q<R=M,ER>F
Conclusions:
LF<Q

II. P=M

Options:

1. = Only conclusion I follows

2. * Only conclusion II follows

3. = Either conclusion I or II follows
4. v Neither conclusion follows

Question Number : 28 Question Id : 54592721238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A foT aTv wed A, T FUA F FE o Avhy fow aw &)
MTUhT fCU IT0 FUe hr eI HTeToT &, Hol & I 3TH a W
AT d2AT & T =T Fd &F 3T e ag & & G v

Fgell # & FleT AT foivhy dlfcheh FT & 3FEIOT FIAT §

T
P>Q<R=MR=F
e

LF<Q

I P=M

Options:

1. = ohdol ISRy | 3AELOT ] &
2. % hael Taseany || ITEROT AT &
3. IT A fasehy | AT || 3HTEIOT FIAT 8
4. v Fe ooy 3T EIoT CREETGC)

Question Number : 29 Question Id : 54592721239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the option that is related to
the below bracketed number series.

(8,3,15)

Options:

1.+ (5,7, 14)
2. % (6,7, 14)
3. % (5,17, 15)
4. % (9, 15, 18)

Question Number : 29 Question Id : 54592721239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frfoET ued A v a0 Joeal A T 39 &heu afrg?ra’r
s TaU H&AT & @A § FEY &A1

(8, 3, 15)

Options:

1. v (5, 7, 14)
2. = (6, 7, 14)
3. % (5, 17, 15)
4. = (9, 15, 18)

Question Number : 30 Question Id : 54592721240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diagrams best represents a
relationship among Animal, Tiger and Elephant?

Options:

.OC
&

.. (2O



4, v

Question Number : 30 Question Id : 54592721240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d & & &l @1 =T ger, e 3R gy & &= dJeoy
Y gelTdr &7

Options

Nele

2. %

(Do

4. v

Question Number : 31 Question Id : 54592721241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given figure, the circle represents Operators, rectangle
represents Teacher and triangle represents Typist. which
letter represents those who are operator and typist also but
not teacher?

a

L~
Options:
1.ve
2. % [
3.=d
4. % C

Question Number : 31 Question Id : 54592721241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& IR AR # Fod, AR Y, 3T ReTh 1 3T
FereT ersfuee 1 geifar & | i & 376 31 Sl S geriar 8
S e 3T csfure o &, dfera fRere 7817

a

&

Options:

1. v e
2. % f
3. % d



4. = ¢

Question Number : 32 Question Id : 54592721242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Complete the series by choosing right figure from the given
choices.

Problem Figures
1 2 3 4
Options:

ct
x
wies
ot

Question Number : 32 Question Id : 54592721242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fgu v fashedt A & WEl 3oy eIl HZeT R T F|

T AFled

O

1

Options:

&£ = Rl R 19

Question Number : 33 Question Id : 54592721243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Complete the series by choosing right figure from the given
choices.

Problem Figures
CD.J all@l 2

1 2 3 4




Options:

1. = |2
L]
G
2. %
€.
3. = e
€]
4 v e

Question Number : 33 Question Id : 54592721243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fgu a0 fashedt A & TEl 3cat geishd HTolT R T |

S
@J a2

1 2 3 4
Options:




2. %
G
I e
&)
4, v =

Question Number : 34 Question Id : 54592721244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing figure in the given matrix.

9N Fad
Tl ([11
L 7|4

Options:

1. =

+1




i—r

l&—l—

Question Number : 34 Question Id : 54592721244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few a1v Afgars & oea 3pfa wAra Hifeiw)

1T |13
IHI<]11
L 7 |34

L3
) .




l-—b

Question Number : 35 Question Id : 54592721245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the four figures are in a sequence or similarity in
some way or the other. You have to choose the figure which is
odd /different:

Options:
<
1. =
,.[@
O
3.v
L

Question Number : 35 Question Id : 54592721245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



I # O AT 3ere 7T FH I1 AT # oy 7 7T e
H U &I IR d§ HIH{T Uelall BT S fO9H / et &N

Options:
<

1. =

,. 1@
&

3. ¢

L.

Question Number : 36 Question Id : 54592721246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many straight lines are there in the following figure?

Options:

1. = 10



2.v12
3.% 13
4. % 17

Question Number : 36 Question Id : 54592721246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR & S ST A Reee A YA &2

Options:

1. = 10
2. v 12
3. = 13
4. = 17

Question Number : 37 Question Id : 54592721247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three positions of a cube are given. Based on them, find out,
which number is found opposite to number 4 in a given cube?

DD

3.+ 1



4, v 6

Question Number : 37 Question Id : 54592721247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh Hel o didd Tdfaar 0 a7 g1 3ok 3TN WX, AT hITelv
foF fe@ a0 g # g&a1 4 & (T Fia O g&=3m §7

O
.
3. % 1

4. v 6

Question Number : 38 Question Id : 54592721248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question find the answer figure in which
question figure is embedded.

Options:

7




2. %
3. = (=
I

Question Number : 38 Question Id : 54592721248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

f&U 97 weel A Scol 3hfd A1 HIGIT o dd geat i

Aleaiad ol

Options:

Za




N

Question Number : 39 Question Id : 54592721249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which answer figure will complete the pattern in the
question figure?

9"a
DY

Options:

(=
&
(s
(s

1.«
2. %
3. =
4. =




Question Number : 39 Question Id : 54592721249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

leT T 3l 3Thic WoeT 3Thid H Yol I T FIE?

Options:

. (e

, &2
5.« (F
. (S

Question Number : 40 Question Id : 54592721250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following choices is the exact mirror image of
the main figure.

Question Figure

&

Options:

SOTTTTUTR LR,

&

%

Lo
4
&

=
b4
/)

Question Number : 40 Question Id : 54592721250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad & & S @1 fOshed FAET 3THfaT HT Tk guoT
S Bl

W AHicd

2

Options:




&

%

L
#®
&

=~
S
74

General Awarenessi

Group Number : 3
Group Id: 5459271053
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness1

Section Id : 5459271053
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks:; 20
Sub-Section Number: 1
Sub-Section Id: 5459271263
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592721251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which World heritage site shows origin of dance in India?

Options:

1. * Hampi
2. v Bhimbetka
3. » Khajuraho
4. = Sanchi

Question Number : 41 Question Id : 54592721251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Slel -7 foed GUIET TUel R H 5fcd T 3cdicd Gl § ?

Options:

1. = BFUT
2. v HTHASCHT

Question Number : 42 Question Id : 54592721252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a traditional folk dance of Jammu &
Kashmir?

Options:

1. = Gafa
2. = Dappu
3. v Dumhal



4, = JThora

Question Number : 42 Question Id : 54592721252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFATe&T # & Fid-A7 TRURF ok ocd STFH FAN F1 872

Options:

1. = 9Tt
2.WEF':L

S.JW
4. % BT

Question Number : 43 Question Id : 54592721253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where does world’s only hanging temple (monastery)
situated?

Options:

1. v China
2. * Hong Kong

3. = Myanmar
4. = Indonesia

Question Number : 43 Question Id : 54592721253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfelaT ST THATT FCHT EIT AlY (F3) Hal Fud g7

Options:

1. v e
2. % BIITRTIT
3. « HAR

4. « SRR

Question Number : 44 Question Id : 54592721254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




When 1s World Music day celebrated?

Options:

1. = 23rd June
2. v 21st June
3. » 26th June
4. = 20th June

Question Number : 44 Question Id : 54592721254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

faeg @elta Taw g AQAR™T AT §7

Options:

1. % 23 Sfef

2. v 21 S
3. % 26 S
4. = 20 S

Question Number : 45 Question Id : 54592721255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following country the concept of Goods and
Service Tax (GST) is originated?

Options:

1. = India

2. » Britain
3. v France

4. = Germany

Question Number : 45 Question Id : 54592721255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad & @ o 2o A 39 vz didw &a (GST) &7
faard seaear g5 7

Options:



% fordar
TR
% STHEAT

ol
<

Question Number : 46 Question Id : 54592721256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the HDI ranking 2018, what was the ranking of India?

Options:

1. = 132
2.+ 130
3. 131
4. % 133

Question Number : 46 Question Id : 54592721256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATelg gaehieh fher 2018 #, o hr ket a1 o1

Options:

1. = 132
2. v 130
3. % 131
4. = 133

Question Number : 47 Question Id : 54592721257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will happen if RBI increases cash reserve ratio (CRR)?

Options:

1. v Supply of money decreases in the economy
2. = Supply of money increases in the economy
3. = Supply of money will be unaffected in the economy



4, = Initial increment in supply but later decrement in supply
of money

Question Number : 47 Question Id : 54592721257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

It Nord S 376 33T siehdl 3MRTaTT 3io7vre (CRR) SeTem &
ar a7 gem?

Options:

1. v 3cTael A el HT YT FA g ST9ar

2. # 3EYGEAT H el T 3 &¢ ST

3. = eyaEAT A el FT 3Yfd ITTiaT el

4. = YRFH H 3 # gi& offehel STG H &7 HT 3T H AT

Question Number : 48 Question Id : 54592721258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the incorrect pair in the following.

Options:

1. » Candela — Luminous Intensity
2. » Ampere- Current

3. v Parsec- Time

4. = Light Year- Distance

Question Number : 48 Question Id : 54592721258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fAeTelaa & Irad FET AT hITST|

Options:

1. = hoell -Wehrel dadr
2. = faegd-am

3. v Id%- TAT

4. = YTl av- T




Question Number : 49 Question Id : 54592721259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which acid is used in aqua-regia?
Options:

1. = Sulphuric Acid (H280 4)
2. v Nitric Acid (HNOS)

3. * Hydobromic Acid (HBr)
4. = Acetic Acid (CHSCOOH)

Question Number : 49 Question Id : 54592721259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THFAT-3IT H Topg 3ear 7 39T Rar Srar &7

Options:

1. » IR TS (H,SO,)
2. v FTERE RS (HNO,)

3. « gERfEs ofdg (HBN)
4. « vfafe® ofdis (CH,COCH)

Question Number : 50 Question Id : 54592721260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which part of human body is affected by encephalitis
(Chamki fever)?

Options:

1. = Stomach
2. v Brain
3. = Lungs
4. = Intestine

Question Number : 50 Question Id : 54592721260 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

ZANATSRET (TAHT JER) & Alld eI FT HleT AT 3T T
BIaT &7

Options:

1. = 9¢
2. v ATEdSH
3. = hths
4. = 3T

Question Number : 51 Question Id : 54592721261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pellagra is caused by the deficiency of which vitamin?

Options:

1. = Vitamin Bl
2. v Vitamin B3
3. = Vitamin B6
4. = Vitamin B12

Question Number : 51 Question Id : 54592721261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

OelmaT orT TAer@eT hT AT & HIOT BT &7

Options:

1. = Vitamin BT
2. v Vitamin B3
3. = Vitamin B6
4. = Vitamin B12

Question Number : 52 Question Id : 54592721262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which surgeon used google glass for surgery for the first time?

Options:



1. = Dr. Naresh Trehan

2. = Dr. Charles R. Drew
3. v Dr. Rafael Grossmann
4. = Dr. Rand Paul

Question Number : 52 Question Id : 54592721262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ohE Holel of Ugell S ol & felT J[aTel TeolME T SEAAT
fopaT am?

Options:

1. % BI. aIXeT A%el

2. i
3. v BI. TW%el ATTHA
4. » 3. YT 9ier

Question Number : 53 Question Id : 54592721263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following refers to Darwin Finches?

Options:

1. = Snakes

2. * Amphibians
3. = Bats

4. v Birds

Question Number : 53 Question Id : 54592721263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Tl # & ieadar fdored Siidel Tthad T Tafdd war &7

Options:

1. = g9
2. % IHIR



3. = THIGS
4. v TET

Question Number : 54 Question Id : 54592721264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the theme of World Water Day 20197

Options:

1. v Leaving no one behind

2. » Nature for Water

3. » Why waste water?

4. = Water and Sustainable development

Question Number : 54 Question Id : 54592721264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fEea Ster fegg 2019 Fr ofiF a7 2?

Options:

1. v TFET T NS A8 Sigar
2. = et &% o yepfa

3. = Ol AT §a1g Fe?

4. » STor 3 Tda A

Question Number : 55 Question Id : 54592721265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By what percentage the forest cover area of India has
increased in 2017-2018?

Options:

1. = 0.9 percent

2. v 1 percent
3. = 1.2 percent
4. % 1.3 percent



Question Number : 55 Question Id : 54592721265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

| 2017-2018 # 9A & a1 &7 # el e #r gfa &8
§7

Options:

1. = 0.9 gfaera
2. v 1 ufaera

3. = 1.2 wfcrerd
4. = 1.3 ufaera

Question Number : 56 Question Id : 54592721266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the percentage of irrigated land in India as of July
20197

Options:

1. = 25 percent
2. v 35 percent
3. = 45 percent
4. % b5 percent

Question Number : 56 Question Id : 54592721266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Stells 2019 d oRa A R of7 1 ufderd frder g7

Options:

1. = 25 gfaerd
2. v 35 gfcerd
3. = 45 yfaera
4, = 65 gfcrerd

Question Number : 57 Question Id : 54592721267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



On which river Almatti dam is constructed?

Options:

1. = Ganga

2. » Kaveri

3. v Krishna
4. » Mahanadi

Question Number : 57 Question Id : 54592721267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT a1 7 AT g & W AT T §7

Options:
1. = 97917
2. % SHTAT
3. v FEOT
4,

% HETTar

Question Number : 58 Question Id : 54592721268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which pass is situated between Ladakh and Tibet?

Options:

1. v Chang La

2. = Lanak La

3. » Khardung La
4. = Z0j1 La

Question Number : 58 Question Id : 54592721268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oerg MY fased & s i a1 7 Bua &2

Options:

1. v TET &7

2. % ollalsh ol



3. % egugdl =l

4. = STl o

Question Number : 59 Question Id : 54592721269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘GIr Kesar’ is a famous variety of which of the following?

Options:

1. » Pepper
2. = Saffron
3. v Mango
4. = Apple

Question Number : 59 Question Id : 54592721269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR el Tedieidd # 8 fhaer uiag fhed &7

Options:

1. = shrely fA
2. % AT
3. v {H
4. = OF

Question Number : 60 Question Id : 54592721270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the maximum depth of Pacific Ocean?

Options:

1. 11,911 m
2.% 19,011 m
3.% 11,011 m
4.+10,911 m

Question Number : 60 Question Id : 54592721270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T AGMERR T Mf&hdH s@ws frder &7

Options:

1. = 11,911 fiee
2. % 19, 011 fA=re
3. = 11,011 e
4. + 10,911 To=re

General Awareness2

Group Number : 4
Group Id: 5459271054
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness?

Section Id : 5459271054

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271264
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592721271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country signed 6 pacts with India in 2019?

Options:



1. = Malaysia
2. v Korea
3. = Myanmar
4. = Nepal

Question Number : 61 Question Id : 54592721271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g 227 o 2019 A 9IRT & @Y 6 AT 9T &Fd1eY hu?

Options:

1. = HelleT
2. v FIET
3. = AR
4, = AqTel

Question Number : 62 Question Id : 54592721272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where did Danish East India Company establish their
settlements in 16207

Options:

1. » Serampur

2. v Tranquebar
3. » Masulipatam
4. = Balasore

Question Number : 62 Question Id : 54592721272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1620 H Sfeler $E¢ STSAT HUT Ul TEATT hal TATUT hT?

Options:

1.&1#?@_43
2.&*&?&@11’



Question Number : 63 Question Id : 54592721273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the staple food of people of Indus Valley
Civilization?
Options:

1. = Rice and Wheat
2. * Wheat and Corn
3. v Wheat and Barley
4. = Barley and Rice

Question Number : 63 Question Id : 54592721273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁgaﬁ‘rﬁrm‘amﬁﬂﬁﬁw & sIsTeT SFIT 2T?

Options:

1. = TTaer 3R g
2. = g I AFY
S.Jﬂéma‘f

4, = St AN A1

Question Number : 64 Question Id : 54592721274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After Samudragupta who among the following became the
ruler of the Gupta Dynasty?

Options:

1. v Chandragupta II

2. = Vishnugupta
3. » Mahendra
4. = Chandrgupta I



Question Number : 64 Question Id : 54592721274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HHEAT F ¥ ArTeEg # O &4 aTed geT T MR SAT?

Options:

1. v Fgred |
2. = [gsopEra

3. = Agg
4.wda?ﬁl

Question Number : 65 Question Id : 54592721275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the pioneer of Communism in India?

Options:

1. = Nalin Gupta

2. % 5. A Dange

3. v M.N. Roy

4. = Bipin Chandra Pal

Question Number : 65 Question Id : 54592721275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H HdlE & 9oldl shid 27

Options:

1. = offelel Il
2. = Ug. U. 8741
3. v TH. Ud. T
4. » o0 Tg drel

Question Number : 66 Question Id : 54592721276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which act is associated with Press?

Options:



1. = Regulating Act
2. = Pitt’s Act

3. v Vernacular Act
4. = Charter Act

Question Number : 66 Question Id : 54592721276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U T @Y g dfafaad O §7

Options:

1. = BegaAa sma=Ead
2. » T &7 AACIH

3. v du-lclcl—-i-lﬂc*i{ UFC

4. % TATET TFC

Question Number : 67 Question Id : 54592721277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year it was announced that Delhi will be capital of
British territories in India?

Options:

1. = 1919
2. % 1916
3. %1912
4.+ 1911

Question Number : 67 Question Id : 54592721277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o a¥ & Iz oo & R Rfeer onf@a uet Hr asaE
feeoll g7

Options:

1. = 1919



2. = 1916
3. % 1912
4, v 1911

Question Number : 68 Question Id : 54592721278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which essay of Annie Zaidi won the Nine Dots Prize 2019-207?

Options:

1. = Known Turf

2. » Other True Tales

3. v Bread, Cement, Cactus
4. = Bantering with Bandits

Question Number : 68 Question Id : 54592721278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tall SiET s Tohe foieier of afigel sfeq Qe 2019-20 Siar?

Options:

1. = allel Th

2. % 3T ¢ oo

3. v 88, d1fc, shacd
4. » ScRer far dfsca

Question Number : 69 Question Id : 54592721279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following is recipient of PM Yoga Award
20197

Options:

1. v Antonietta Rozzi

2. » Paramhansa Yogananda
3. » Ramdev



4. = B.K.S. Iyengar

Question Number : 69 Question Id : 54592721279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@a & @ fF8 divA e g 2019 fHem g7

Options:

1. v Talader Uar

2. » WHET AeG
3. = (HACT
4,

« W, oh. T, IR

Question Number : 70 Question Id : 54592721280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the incorrect pair of book and author among the
following.

Options:

1. » Mansarovar — Munshi Premchand
2. v We, the people - . R.D. Tata

3. = A suitable Boy — Vikram Seth

4. » Forbidden Verses — Abu Nuwas

Question Number : 70 Question Id : 54592721280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%ﬁﬁ@ﬁwmmﬁaﬁ%ﬁﬁﬁwaﬁﬁgﬁ?

Options:

1. % AR - 70T daee
2. v @I, T UWITel - o 3 37 . 2ral
3. # 37 uel §1F - TOhA FS

4. » Wesa S - 3 A

Question Number : 71 Question Id : 54592721281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which famous storybook is written by Lewis Carroll?

Options:

1. * The magic of lost temple

2. * The jungle Book

3. v Alice’s adventures in wonderlands
4. » A wasted hour

Question Number : 71 Question Id : 54592721281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

o3 HU o fore vl wgrer 1 geas foddr 87

Options:
1. = 21 #ATSF dTF oiee TF9e
« ST9TeT §h
s

2.
3. v Uforg'd USd Sof gistelsd
4, » 37 d€T AT

Question Number : 72 Question Id : 54592721282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The father of Geometry is:

Options:

1. = Pythagoras
2. = Kepler

3. » Aristotle
4. v Euclid

Question Number : 72 Question Id : 54592721282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SATTATT T STaleh &

Options:

1. = UTSUEIRY
2. % hTel




3. = 3T
4.\‘.«’?2!\1%3

Question Number : 73 Question Id : 54592721283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pankaj Advani is a famous Indian player in which of the
game?

Options:

1. v Billiard and Snooker
2. » Hockey

3. = Volley ball

4. = Tennis

Question Number : 73 Question Id : 54592721283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uohol TSI vl Tol o WHE HROIT &erar §7

Options:

1.%%‘1%!’&'%’3-71?@
2. = Blenl

3. = dlell &lel

4, »

Question Number : 74 Question Id : 54592721284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country’s civil servants will be trained in India over
next five years?

Options:

1. = Indonesia
2. » Nepal

3. v Maldives
4. » Myanmar



Question Number : 74 Question Id : 54592721284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T I g9l & forg der & Ao Ak F g & uRfaa
oRaT SATTAT?

Options:

1. = SZATET
2. = ATl
3. v AR
4, » FAR

Question Number : 75 Question Id : 54592721285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the vice-chairperson of NITI Aayog?

Options:

1. » V.K. Sherawat
2. » Ramesh Chand
3. = Amitabh Kant
4. v Rajiv Kumar

Question Number : 75 Question Id : 54592721285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 3T o 3IUTETET hiel 87

Options:

1. = dr.eh. eREd
2. % THE g
3. = 3TTHATT T

4. v T4 AN

Question Number : 76 Question Id : 54592721286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which amendment of Indian constitution provides 10 percent
reservation to economically weaker sections?

Options:

1. » 122nd Amendment
2. v 124th Amendment
3. = 125th Amendment
4. » 123rd Amendment

Question Number : 76 Question Id : 54592721286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HATT Giaure & forg gelder & 3T §7 & AL ol ol
10 ufcrera 3eToT fHerar &7

Options:

1. = 122 a1 gL
2. v 124 a1 gerde
3. = 125 @ gee
4. % 123 a1 gede

Question Number : 77 Question Id : 54592721287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For how much maximum period an ordinary bill passed by
the legislative assembly of a state can be delayed?

Options:

1. v Four months
2. » Five months
3. * Three months
4. = SiXx months

Question Number : 77 Question Id : 54592721287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fordT ToT & fauTer T G@RT IR U HTYROT TaTeh
HI&FdA Tohcell 3@ & Tow faofad foham &1 @ehar 87

Options:

1. v I Hala
2. = 9T Hola
3. = dlel HElel
4. » BF Aelal

Question Number : 78 Question Id : 54592721288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cups is related to Hockey?

Options:

1. = Amrit Deewan Cup
2. * Nijam Gold Cup
3. » Rajkumar Cup

4, v Murugappa Gold Cup

Question Number : 78 Question Id : 54592721288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFafelET # & HIa-A7 7 giehl & HAd &7

Options:

1. = AT <Idlel hY

3. % TSTRATT FY

4. v FEI] Mes HY

Question Number : 79 Question Id : 54592721289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which sport uses the term silly point?

Options:



1. * Hockey

2. v Cricket

3. = Golf

4. = Billiards

Question Number : 79 Question Id : 54592721289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fore Ter & el disc ersg T 39T gIdr §7?

Options:

1. = Blehl
2. v Tohahc
3. = dAMew
4, = fefergs

Question Number : 80 Question Id : 54592721290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which city Women’s FIH Series Finals Hockey Tournament
2019 was held?

Options:

1. v Hiroshima
2. = Banbridge
3. = Valencia
4. = Finland

Question Number : 80 Question Id : 54592721290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forT oET # AR ScIaedo &l e T Wiged &l
geltHe 2019 3atTeid fordr 91T o41?

Options:

1. ¢ T@OTerAT



Arithmetic Ability1
Group Number : 5
Group Id : 5459271055
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271055
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section I d: 5459271265
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592721291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: What value will come in place of question mark
(7)?

(A= 4P+ 512+ 8= (32 x8P=(2x2)? 4

Options:



1. 8
2. % 12
3.v06
4. % 14

Question Number : 81 Question Id : 54592721291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

focer wedaras Res (?) & TITT 9 hisel AT AT JR—IT?

(4% 4P+ (512+ 8y x (32 x 8y =2 x 2’4

Options:

1. = 8
2. % 12
3. v 6
4. = 14

Question Number : 82 Question Id : 54592721292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

{12 x15)-9.72} + 9 =7

Options:

1. = 18.32
2. v 18.92
3. = 18.07
4. = 18.18

Question Number : 82 Question Id : 54592721292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T wesT H weeTares g (?) & TUTT UT FAT 3Te]

aqTigT?

[(12 x 15) - 9.72} + 9 = ?

Options:

1. = 18.32
2. v 18.92
3. = 18.07
4. = 18.18

Question Number : 83 Question Id : 54592721293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTION: What should come in place of the question mark
(?) in the following question?

1
e B M R
5 & 15 4 30

Options:

1. % 2
2. % 8
3.v 512
4. % 324

Question Number : 83 Question Id : 54592721293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forcer: Tealel@d e & Uesarae eg (?) o T 9T F41

HTeT ATET

3 3 7=
e B e e
= il 15



Options:

1. = 2
2. % 8
3. v 512
4. = 324

Question Number : 84 Question Id : 54592721294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the largest of the following fractions.

17 27 37 47

23°33'43°53
Options:
17

1%23

27

a7

3'Q 43

47

4'&; 23

Question Number : 84 Question Id : 54592721294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAelelaa 7 8 a8 37 e AT HIaa?

17 27 37 47

23°33'43°53

Options:



17

-I wx 23
27
D & =
37
3_ % 43
E
4 v 53

Question Number : 85 Question Id : 54592721295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTION: What should come in place of the question mark
(?) in the following question?

65% of v3136 X5 =7 +154
Options:

1. » 56
2.v 28
3. % 35
4. % 32

Question Number : 85 Question Id : 54592721295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forder: feaTa@a weal H wesTaras Reg (?) o TATH W T
MTT AIET?

65%o0f V3136 X5 =7 +154



Options:

1. = 56
2. v 28
3. = 35
4. = 32

Question Number : 86 Question Id : 54592721296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTION: What should come in place of the question mark
(?) in the following question?

98 + 14 %49 - 294 = (?)
Options:

1. = -14

2. % V7

3.v-7Tor7
4, = 196

Question Number : 86 Question Id : 54592721296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fader: feafa@a e & wesares [eg (?) & T 9T &7
3T ATRT?

98 + 14 x 49 - 294 = (7)

Options:

1. % <14
2. % V7



3. v -] or 7/
4. = 196

Question Number : 87 Question Id : 54592721297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bl OMaf & = Sand s
7 9°5 9

o

Options:

1. = 60
2. % 90
3.v120
4. % 150

Question Number : 87 Question Id : 54592721297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

E,E,Emgﬂﬂwm%;

i

Options:

1. = 60
2. = 90
3. v 120
4. = 150

Question Number : 88 Question Id : 54592721298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the greatest number that divides 427, 549 and 732
exactly.

Options:

1.+ 61
2. % 37
3. % 59
4. % 63



Question Number : 88 Question Id : 54592721298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a8 F35 G&AT AT L S 427, 549 3R 732 & Tk ail=s
o iea =

Options:

1. v 61
2. % 37
3. = 89
4. = 63

Question Number : 89 Question Id : 54592721299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

778437 1s divisible by which of the following?

Options:

1. = 7
2. % 12
3.8
4. v9

Question Number : 89 Question Id : 54592721299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

778437 Taratoi@d # & fora & fawrsT 87

Options:

1. = 7
2. % 12
3. = 8
4. v 9

Question Number : 90 Question Id : 54592721300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following numbers is divisible by both 9 and 11?

Options:

1.+ 22374
2. % 21307
3. % 23456
4. % 17577

Question Number : 90 Question Id : 54592721300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

farafe@a & O wia @ g&ar 9 3K 11 Q= & BT 87

Options:

1. v 22374
2. = 21307
3. = 23456
4. = 17577

Question Number : 91 Question Id : 54592721301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average mark in Hindi of a class of certain number of
students is 70. If the marks of three students were misread as
65, 54 and 76 instead of 56, 45 and 67 respectively, then find
the number of students of the class if the correct average of
marks is 69.1.

Options:

1. = 36
2. v 30
3. %45
4 % 54

Question Number : 91 Question Id : 54592721301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



F AT STl $T v Fam F7 B A AT 3R 70 § A
diel SMEN & 3k HAT: 56, 45 3 67 & FoT 65, 54 3T 76
& T H U T, dT K& & ST Al TEAT ATT HL IS 3Rl
FT Har 3 ad 69.1 &I

Options:

1. = 36
2. v 30
3. = 45
4. = 54

Question Number : 92 Question Id : 54592721302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average of runs scored a batsman for the first 12 matches
1s 32.5. In the 13th match he makes century and in the 14th
match he makes half century. What is the average for all 14
matches?

Options:

1. = 36.63
2. v 3857
3. =405
4. % 78.6

Question Number : 92 Question Id : 54592721302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ugel 12 Ha& & TOIT Uk Seoldrat o7 3ad & AT 1 dad
32.5 &1 133 H9T #H Tg ods Farar & MY 143 dT A T8
AT FATAT &1 T 14 F=r F v i9d & a7 §7

Options:

1. = 36.63




2. v 3857
3. = 40.5
4. = 78,6

Question Number : 93 Question Id : 54592721303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper marked the price of each of 50 shirts at 60
percent above the cost price. He sold 20 shirts at 20 percent
discount and remaining shirts at 30 percent discount. The
total profit of shopkeeper is Rs.3220. What is the cost price of
each shirt?

Options:

1. = Rs.240
2. » Rs.480
3. v Rs.350
4. » Rs.320

Question Number : 93 Question Id : 54592721303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk ehTeiel & T Hed ¥ 60 Ufderd W cds 50 o€ &7

HIAT I 3T fohaml 3aet 20 o 20 vfderd g W 3N Ay
erE 30 Ufderd §e 9T STl ZHRIaR Fel oy 3220 %. gl

Uedsh 9E T Y Hed FT §7

Options:

1. = % 240
2. » %.480
3. v %.350
4. = %.320




Question Number : 94 Question Id : 54592721304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a group, there are 65 percent men. 35 percent of the total
members are literate, of which 45 percent are women. By
what percentage is the number of illiterate women more/less
than that of illiterate men?

Options:

1. = 22.22 percent more
2. » 18.86 percent less
3. = 45.34 percent more
4. v 57.92 percent less

Question Number : 94 Question Id : 54592721304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush HHE H 65 WA IRV &1 Fel deEdl H H 35 afaerd
e & S8 @ 45 uiaera Afgene &1 Mffaa Afgemst $r
HEAT 3TRATETT TEST sk Jorelm 7 fovctel fcrerd A/ 3ifaes g7

Options:

1. = 22.22 vfaerd 3faF
2. % 18.86 wfderd +#A
3. = 45.34 wfcerd 31faes
4. v 57.92 wfderd &A

Question Number : 95 Question Id : 54592721305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An increase of 20 percent in the price of pens enables a man
to buy four less pens for Rs.72, thus he gets N pens. The price
of each pen after increase will be P. What is the value of N +
pP?

Options:

1. » 204



2. % 258
3.v236
4 = 282

Question Number : 95 Question Id : 54592721305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

OeT I FrAT # 20 gfderd 7 g gla W Uk MEAT 72 % A
TR del A ZHIEAT §, 39 TR g8 N 9 Z{Ear &1 gig
ST Ucdeh Uel ohT hIAT P BRI N + P &hT ATl FAT &7

Options:

1. = 204
2. = 25.8
3. v 23.6
4, = 28.2

Question Number : 96 Question Id : 54592721306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a examination, A scored 20 marks more than B. C scored 35
marks less than B. D scored 14 marks more than C. E scored
85 marks less than the maximum marks of the test. D scored
84 marks. What percentage of marks did E score, if he got 40
marks less than A.

Options:

1. = 40 percent
2. v 30 percent
3. %= 65 percent
4. = 35 percent

Question Number : 96 Question Id : 54592721306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Th TWIGT #, A d B & 20 3Tk 37k ureg fpwl C a8 B & 35
3k FH Ut 0l D & C & 14 37 31faF wred fhv | E &
o6 o JfARAA 3R T Jorem # 85 31k FA e vl D
o 84 37k A fpw| IT E o A @ 40 379 &H UItd T, E
o fehctar gfcrera 3tk urea fohe?

Options:

1. = 40 wfaerd
2. v 50 yfdera
3. = 65 yfaera
4, = 35 yfaerd

Question Number : 97 Question Id : 54592721307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mukesh buys an article marked at Rs.5000 and gets three
successive discounts of 10 percent, 20 percent and 25 percent
respectively. He spends 20 percent of the cost price on
transportation. At what price should he sell the article to earn
a profit of 25 percent?

Options:

1. v Rs.4050
2. » Rs.3240
3. = Rs.3660
4. » Rs.4200

Question Number : 97 Question Id : 54592721307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HRer o 5000 %. 3fehd Hed HT Tk g&q FAA: 10 gfcrerd, 20
ulcrerd 3 25 widerd 7 diel HiAS P W TN T8 F
Hed T 20 ufderd aRage T TR I g1 25 icerd &1
AT FHS kAU 30 foha Hed W axg FT a<Iar g0

Options:

1. v %.4050
2. % %.3240
3. ® %. 3660
4. = %.4200

Question Number : 98 Question Id : 54592721308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The value of a car depreciates by 15 percent every year. If its
present value is Rs.5,12,000. At what price should it be sold
after two years to gain 40 percent profit?

Options:

1. v Rs.517888
2. » Rs.418260
3. = Rs.498528
4. % Rs.520188

Question Number : 98 Question Id : 54592721308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh I 1 Hed &€ a¥ 15 Ulderd a g Sar &1 afe gaehr
IIHAT Hed %.5,12,000 &1 40 wfderd @mst greT sia & forw

ar ay & 9§96 e Hed U ST el Tge?

Options:

1. v & 517888
2. = 5.418260




3. » 5.498528
4. = 5520188

Question Number : 99 Question Id : 54592721309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An article was sold at 20 percent loss. If it was purchased at
10 percent lower price and sold at Rs.114 more, the profit
would have been 10 percent. What is the cost price of the
article ?

Options:

1. » Rs.540
2. » Rs.650
3. v Rs.600
4. » Rs.700

Question Number : 99 Question Id : 54592721309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush 3cdte 20 Tfcerd sehdlel O¥ ST 9T 47| I Jg 10
gfaerd & HTAT 9T TG AT § 3R 114 303 9o+ W

ST ST &, o6 omey 10 gfderd gl 3978 T &R Heod ]
&7

Options:

1. = %.540
2. % %.650
3. v %.600
4. = %.700

Question Number : 100 Question 1d : 54592721310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The mean proportion of two numbers is 40 and third
proportion of the same numbers is 320. Find the sum of the
numbers.

Options:

1.+ 100
2. % 70
3. = 80
4. % 88

Question Number : 100 Question Id : 54592721310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar HEAT3T HT AEATATT 40 & 3 3 FEATIT FT AT
320 & G&ATT T AW ATT hiTelv|

Options:
1. ¢ 100
2. = 70
3. = 80
4. = 88
Arithmetic Ability2
Group Number : 6
Group Id: 5459271056
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Arithmetic Ability?2

Section Id : 5459271056

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459271266
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592721311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person divides a certain amount of money between his sons
Ram and Shyam such that Ram gets (1/7)th of the money.
Shyam gets (1/3)rd of the remaining amount. Shyam deposits
the remaining amount in three bank A, B and C in the ratio 2 :
1: 5. If the amount deposit in bank C is Rs.11750, then what is
the share of Shyam?

Options:

1. = Rs.8500
2. v Rs.9400
3. = Rs.10500
4. = Rs.12500

Question Number : 101 Question Id : 54592721311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U Sfed 30 del TH 3R AH & o FS TR 38 TWE
gedT & for THE Y (1/7)ar A7 g Hear §1 eI7H T A9
LT T (1/3)aT o191 fHear &1 a8 Ay Ufer & e 7@ 2: 1: 5 &
3e[Tcd A iet sk A, B 3 C # SAT e g1 I dm C A
STAT TfRr 11750 & &, a6 oATH o1 Tg&ar 41 87

Options:




* %.8500
v %.9400
* %.10500
* %.12500

ol

Question Number : 102 Question 1d : 54592721312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

B is 13 years older than A and 7 years younger than C. Five
year hence, the ratio of the ages of A and Cis 5 : 9. What will
be the age of B after 10 years?

Options:

1. = 38 yr
2. % 45 yr
3.v43 yr
4. = 40 yr

Question Number : 102 Question Id : 54592721312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BAF13a¥ asrg 3N C & 7 ay olar gl 99 dy &5 A
AR C T 3G FT 37t 5: 9 &1 10 a¥ a1 B hr 3mg 4

gratr?

Options:

1. » 38 @¥
2. % 45 a¥
3. v 43 a¥
4. = 40 T§

Question Number : 103 Question 1d : 54592721313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The compound interest on a sum for 2 years is Rs. 624 and the
simple interest on the same sum for 2 yrs is Rs. 600, the rate
of interest being on the same sum in both the cases. The
difference between the compound interest and simple interest
for 3 years will be?

Options:

1.~ Rs 73.92
2. » Rs 49.92
3. = Rs 62.24
4. % Rs 534.76

Question Number : 103 Question 1d : 54592721313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T geIe W 2 a¥ & folv Tehglg sarel 624 & & 3R
HTA/3ET T 0T 2 gy & o0 grgRor e 600 &.8, arar
ATHGT H 1T $T X FAS &1 3 ¥ 38T T & v Thgla
SOTST 3T TATYRUT ST o ST T JdY FAT FEM?

Options:

1. v 73.92 ¥4
2. = 49,92 ¥
3. = 62.24 ¥
4. = 54.76 T9F

Question Number : 104 Question Id : 54592721314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The value of @ machine depreciates at a certain rate for every
year. For the first year, it depreciates by 10 percent and for
the second year, by 25 percent and for the third year by 20
percent. If the present value of the machine is Rs.5400, then
find the value of the machine three years ago.



Options:

1. » Rs.20000
2. » Rs.28000
3. = Rs.19800
4. v Rs.10000

Question Number : 104 Question 1d : 54592721314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh HelTel T Hed &L el & folv Teh foAfRTd o & A &l
ST &1 9gel a¥ & foiv, Ig 10 ufderd 3 qay av¥ & fov
25 yfeerd 3R JY a¥ & fow 20 ufderd & & & ST g
Ifg FefeT T acTATeT Hed €.5400 &, A oiel el Ugel Feflel

T HeT AT FI|

Options:

1. = %.20000
2. = %.28000
3. = %.19800
4. v %.10000

Question Number : 105 Question Id : 54592721315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A certain sum was lent on simple mterest at l-’l% % p.a. for three vears and six months. The whole

amount was again lent at 20% p.a. on compound interest (compounded annually) for three years.
if the amount received at the end of six vears and six months was Rs.20736, find the mitial sum
lent.

Options:

1. * Rs.10000
2. » Rs.9000
3. * Rs.11500
4. v Rs.8000



Question Number : 105 Question Id : 54592721315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e fafRara Ui AraRoT & W 142 % iy ad ofer amer 3k o 7 & e 3uRdr | o i s 20%
sfdad aagfarears (@i avrm w e arer & fresurdr o of 1 9fe o s iR os Ad= & 3a &
Qe TTer ¥.20736 2T, A LRI TR ST IAT 1T |

Options:

1. = %.10000
2. = %.9000
3. = %.11500
4. v %.8000

Question Number : 106 Question Id : 54592721316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A and B begin to move towards each other, the distance
between them is 20 km. A walks at 3 km per hour, and B
walks at 1 km per hour. After how many hours will they
meet?

Options:

1.~ 5 hour
2. = 6 hour
3. = 7T hour
4. = 9 hour

Question Number : 106 Question 1d : 54592721316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 3 B U @Y FHI THE elell IRH & folaer s Hr
T 20 ToraT &1 A, 3 TordAT ufeh @er 7 aifd & 31 B, 1 foraT
gfa ger T 91fad 8 I adr g1 3 fohdel a¢ a1 [Helar?

Options:

1. v 5 ¢
2. % B T




3. = 7 °©C
4, = 9 Ul

Question Number : 107 Question 1d : 54592721317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train covers a distance in 70 minutes, if it runs at a speed of
72 kmn/hr on an average. The speed at which the train must
run to reduce the time of journey to 45 minutes, will be:

Options:

1. = 115 km/hr
2. » 125 km/hr
3. = 105 km/hr
4. v 112 km/hr

Question Number : 107 Question Id : 54592721317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T JeMET Teh foifead gdt 70 felc # a¥ dr &, afg sae
Mrad arer 72 TRAEVEer &1 YoEmaeT R OTer & et Toh AT T
TAT 45 THae &6

Options:

1. = 115 TRaAvEET
2. = 125 Terdl/ger
3. = 105 Terelifaer
4. v 112 TRaAEeT

Question Number : 108 Question 1d : 54592721318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A man travels the first part of his journey at 20 km/h and the
next at 70 km/h, covering the entire journey at an average
speed of 50 km/h. If he covered 42 km at the rate of 70
km/h,then find the distance covered at 20 km/h?

Options:

1.+ 8 km
2. % 4 Km
3. = 6 km
4. %= 3 Km

Question Number : 108 Question Id : 54592721318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh STTod o 3TaT ITAT hT TgaT #1720 ravae &r afa @
AT 379TelT {7 70 fohAvae 1 aifad & aF forar | 38e gt
IJraT 50 ferdAEe &1 e aifa & g $r afg ag 70 rdvaer
T & & 42 ThAT Fr g7 a7 Far g, ar 20 TRAEer $r $r
AT F T T AT I

Options:

1. v 8 AT
2. % 4 TRaAT
3. = 6 AT
4, = 3 TRaAT

Question Number : 109 Question 1d : 54592721319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sachin and Nitesh can do a piece of work in 20 days and 30
days respectively. They began to work together but Sachin
leaves after ‘X’ days and Nitesh finished the rest of the work
in (x + 10) days. After how many days did Sachin leave?



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.18
2. 11
3.6

4.12

Question Number : 109 Question Id : 54592721319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g 3T @der FET &1 & shaer 20 G 3w 30 ea &
HL Tehd gl 3 9N o Teh T FRT Hladl YN har offeret
Hﬁaﬁ‘x’ﬁﬁmmm@gﬁmaﬂT%ﬁﬁrﬁaﬁgﬁ
ST AT (x + 10) feat & garea forar e fhaa g a1g
FRT BIFHY TAT AT?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 18
2. 11
3. 6
4. 12

Question Number : 110 Question Id : 54592721320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

15 men or 18 women can complete a piece of work in 45 days.
If 5 men and 6 women work together then the work will be
completed in:

Options:

1. = 48 days



1
33 = davs

2. %

ET%da}'s
3.v °

4. = 75 days

Question Number : 110 Question Id : 54592721320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

15 & 7 18 Afgee fordl & &7 45 et # sear g1 afg
5 9% 3T 6 AfgeV Uk T F HL,Ar F fohctal fealt A
T e

Options:

1. = 48 fga
5 53%%?
3 5?%%?

4, = 75 f&a1

Question Number : 111 Question Id : 54592721321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can do a piece of work in 15 days, B in 12 days, and A, B and
C together in 5 days, In what time could C do it alone?

Options:

1. v 20 days
2. = 8 days

3. = 15 days
4. = 12 days



Question Number : 111 Question 1d : 54592721321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARSI FTHE AT 15 T A&, B 12fca & g1 AB 3R C v
T TACRT 38T F1H T 5 & # @ = & | C 37kt 38
fehcel Teall # T T Fehall &7

Options:

1. v 20 feaT
2. % 8 fear
3. % 15 faa
4, = 12 T2

Question Number : 112 Question Id : 54592721322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The area of square is equal to four times the area of a
rectangle of length 117 cm and breadth 13 cm. What is the
perimeter of the square?

Options:

1. = 310 cm
2. = 308 cm
3.v 312 cm
4. = 300 cm

Question Number : 112 Question Id : 54592721322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk 3T T & Ahel, Tk A sk &T%hel FT I Il & FordeT
oFTs 117 AT dur Iis® 13 AT &1 TIT &7 F97 Hhr i

AT ZA?

Options:

1. = 310 9&T




2. = 308 TAT
3. v 312 AT
4. = 300 AT

Question Number : 113 Question Id : 54592721323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The area of a square is 49 sq. cm whose side is one fourth to
the radius of a circle. The ratio of Perimeter of square to the
circumference of the circle is:

Options:

1. = 7:23
2. % 28:33
3.¢v7.44
4. % 23:35

Question Number : 113 Question Id : 54592721323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk a1 FT &AWl 49 T TAT & ToIGehT ol Uk g <kl
Bear @ v dters &1 et Fr ik v ged o aRfS 1
ST &

Options:

1. = 7. 23
2. = 28:33
3. v /. 44
4. = 23:35

Question Number : 114 Question Id : 54592721324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the area of a circle whose circumference is 88 cm?

Options:



1. = 732 sg.cm
2. * 430 sq.cm
3. v 616 sq.cm
4. = 928 sq.cm

Question Number : 114 Question Id : 54592721324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3H Fool T &6 A HITole Toldehl TRTe 88 AT &7

Options:

1. % 732 gar HATL.
2. % 430 g7 JAT.
3. v 616 g3t @A
4. % 928 gar TAT.

Question Number : 115 Question 1d : 54592721325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: Study the following table and answer the
questions that follow:
Price of Milk in Selected Countries (US Dollars)

Country Price of 100 litres of milk
European community 375
USA 228
JAPAN 855
Australia 225
New Zealand 202
India 188

Find the difference between the prices of 500 litres of milk in
Australia and in Japan{ in US Dollars.)

Options:

1. = 305



2. v 315
3. % 325
4, % 335

Question Number : 115 Question Id : 54592721325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fader: Torra dIfoleRT T 32Tl e 3T AFaTai@d u2al &
3T 2
qfetar et (TANET STol) H g 1 hrAd

&ar 100 #f1ex g Y H1Ad
R THe 375
gﬂﬁﬂ;ﬂ'm 22.8
STaTeT 85.5
sireeferar 225
=Teiels 20.2
p— 18.8

3ireeferar 3 Sdrer # 500 ofleT gy I HrAdr & & 3l
AT IV I(3TARERT 3ol H)

Options:

1. = 305
2. v 315
3. = 325
4. = 335

Question Number : 116 Question Id : 54592721326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



DIRECTIONS: The following pie-chart gives the break-up (in
degrees) of land with various continents. Answer the
gquestions on the basis of the pie-chart given.

Figure in degrees

Europe, 13

M.America, 65

Cceania, 23

S.America, 48

US5R, 56

If the total area is 500 million square miles what will be the
ratio between the area under Europe and North America?

Options:

1.x5:1
2.v1:5
3.% 181 :903
4. = 903 : 181

Question Number : 116 Question Id : 54592721326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forder: forafafEd ag-ae faffea Agea™r & i faawor i
(33l &) gorfar &1 RU 70 uE-ae & 3MYN 9T Ueel & 3cad o

afE o &taher 500 faforaer aef #irer &, ar g 3t 3eadr
HARGRT ok &% & ST FT U FAT Blam?

Options:

1. = 5 : 1
2.v1:5

3. = 181 : 903

4. = 903 : 181

Question Number : 117 Question Id : 54592721327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



DIRECTIONS: Following table shows number of T-20 matches
played, runs scored,50s and 100s by 4 Indian batsmen in a
year.

Player Matches played | Runs scored S50s 100s
Virat 16 200 4 3
F.ohit 20 840 3 1

Shikhar 25 1030 6 2
Suresh 12 450 4 0

What is the ratio of the average number of runs scored per
match by Shikhar to the average number of runs scored per
match by Rohit?

Options:

1.x3:4
2.%11:13
3.%1:2
4 v1:1

Question Number : 117 Question Id : 54592721327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forder: faFaTaliAd dIfelehT Uk a¥ # 4 $TRATT SeoldToil ganT
T A0 E-20 H, FATC A0 T, 50/37€erde 3T 100/erdss =T
TE&AT geidr gl

fErar=T WA AT AT | AW AU IA | S0/30hras | 100w
R 16 900 4 3
qRd 20 840 5 1
frER 25 1050 6 2
a1 12 430 4 0

e ggrr ufd #9 §av 910 3ied Teh qor Afgd ggrr ufd
HT SV 30 AT AT T TEIT T 3T Fohcarr 87

Options:

1. « 3 : 4
2. % 11 : 13
3.% 1 :2
4. v 1 : 1

Question Number : 118 Question Id : 54592721328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



DIRECTION: The following bar graph shows the number of
engineering students at different institutes for the 3 academic
years. Study the graph and answer the questions that follow.

NMumber of Engg.students [in hundreds) at Instituitions of
different types

1988-89 1989-90 1990-91

B Private Engg Coliegce B Govt Engg. College m Regular Engg College B IIT's

In 1990-91, what percent of Engineering Students were
studying at IIT’s?

Options:

1. = 16
2.% 15
3.+v13
4, % 12

Question Number : 118 Question Id : 54592721328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forder: T s omw 3 dharforer aet & forw e
TEATAT H SANAINT ST hT FEAT T S2ATAT §1 IATH FT

3T L 3 3T FaTell & ST & S 0T Fd &

300

200

100

fafir=1 voR & Fru=l & SShferafir fgmidtet @ ) f

e
250
175
115 120 ey -
75 75
EET
1988-80 1989-00 1990-01

-q-ElﬂE Em X ma'u Imm - mu
WA ST Sag " aSanda

1990-91 #, SR & fehclel WicTerd 19 3E3ecl H g
@ a7

Options:

1.

2.
3.
4.

#®

#

4

®

16
15
13
12

Question Number : 119 Question Id : 54592721329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



DIRECTION: Ramesh has a manufacturing unit. The following
graph gives the cost of various number of units. Given that
profit = Revenue — Variable cost — Fixed cost. The f{ixed cost
remains constant upto 34 units after which additional
investment is to be done in fixed assets. In any case
production can not exceed 50 units.

—REVENUE — =/grighle Cost - Fixed Cost
T oo
s ‘// /
200 e
700 —
500 o Gmf‘qﬁ;’
300 P ﬁf’
Im EG F3.0 11ﬂ
. .-?ﬂ :.?@'\-'.l TD
a
10 20 30 40 50

Number of Units

What is the minimum number of units that need to be
produced to make sure that there was no loss?

Options:

1. %5

2.v 10

3. %20

4. = Indeterminate

Question Number : 119 Question Id : 54592721329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forder: TRer $r1 v AAATT Fh1g §| forfaf@d ae Affee
Sh1SAT hl GTITT hl SlTelshRT &l &1 IT§ ToIT = & R ot
= g — IREdeT drT — ieaa aera| Afeaa amea 34
ZhIsdl der T2 {@dr & o &g Afead omerg # Aaied
forder &t SET oIrar & | foedr oft afitfeufa & scurgar 50
shisdl & T =16l &F Tehal gl

——uFEg T OigosE J@Ed ICIEECRCICGE
et io0E
200 //
800 BLC
e _~ _~ 750
600 /,-"E'Im, *'1'5”:#,
E ..-r',:" _..--"'""’Ea
S
300 /-'ﬁﬁf
200 :,‘%"E/’s-'f
100 ol 110 110
70 70 70
ﬂ 1 1
10 20 30 40 50
SHISAT Y TEAT

g GARad a1 & A0 o g goharer o &1, TAr Foredl
SIITH SRSl & Tolelshl 3cUTest T STelr =mfge?

Options:

1. = 5
2. v 10
3. = 20

4. = 3faread

Question Number : 120 Question Id : 54592721330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



DIRECTIONS: Study the following graph carefully to answer
the questions that follow:

Number of televisions (in thousands) manufactured by three
different companies in six different years

n
=]

2

=
]

B3 L
=)

number of product (in
thousands)

=
=]
!

Q
|

2004 2005 2006 2007 2008 2009

EBCompany & ®ECompanyB eCompanyC

If 25 per cent of the number of televisions manufactured by
company A over all the years together were black and white,
then what was the number of coloured televisions
manufactured by company-A over all the years together?

Options:

1. = 1.4 lakhs
2. % 14,000 lakhs
3.+ 1.8 lakhs
4. » 18,000 lakhs

Question Number : 120 Question 1d : 54592721330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fader: BT 910 Uesl &7 3ca¥ 2o & Tolv eafe@a amw 1

AT Yah 3TegGel

BE 3TOIT-37ClT TN A el 3eET-3709T Ul Zary ffda
Colldotal (FTRT ) T T&T

Hioger o Wsger g Magem C

afy @l aut & Fueit A carT AT hRea & aear #7125
yfcerd soieh U atge &, dF FUA-A gy U ary el awt &
fAfAT e CellfasTell 1 Feol TEAT Tohcell AT?

Options:

1. = 1.4 omd
2. » 14,000 om&
3. v 1.8 o
4. » 18,000 omm

General English1

Group Number : 7
Group Id : 5459271057
Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 5459271057

Section Number : 1

Section type: Online
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number : 1
Sub-Section I1d: 5459271267
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592721331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the fragment in the sentence which contains the
grammatical error from the given options.

Single use plastics — from straws to retail bags — is illegal in
Vermont by summer 2020.

Options:

1. = Single use

2. = straws to retail bags
3. v is illegal

4. » summer 2020

Question Number : 121 Question 1d : 54592721331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the fragment Iin the sentence which contains the

grammatical error from the given options.

Single use plastics - from straws to retaill bags - is illegal In

Vermont by summer 2020,

Options:

1. = Single use
2. % straws to retail bags
3. v I1s lllegal

4. = summer 2020

Question Number : 122 Question Id : 54592721332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the fragment in the sentence which contains the
grammatical error from the given options.

Humans are not on the menu of sharks: sharks bite humans
out of curiosity or to defend itself.

Options:

1. * Humans are
2. » menu of sharks
3. = out of curiosity
4. v defend itself

Question Number : 122 Question Id : 54592721332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the fragment Iin the sentence which contains the

grammatical error from the given options.

Humans are not on the menu of sharks: sharks bite

humans out of curiosity or to defend itself.

Options:

1. = Humans are
2. = menu of sharks
3. ® out of curiosity

4. v defend itself

Question Number : 123 Question Id : 54592721333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the fragment in the sentence which contains the
grammatical error from the given options.

Artificial islands commeonly known ‘crannogs’ are found in
hundreds of Scottish lakes and waterways.

Options:

1. = Artificial islands
2. v commonly known
3. » hundreds of

4. = and waterways

Question Number : 123 Question Id : 54592721333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the fragment Iin the sentence which contains the

grammatical error from the given options.

Artificial i1slands commonly known ‘crannogs’ are found in

hundreds of Scottish lakes and waterways.

Options:

1. = Artficial islands

2. v commonly known
3. ®* hundreds of

4. = and waterways

Question Number : 124 Question Id : 54592721334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the fragment in the sentence which contains the
grammatical error from the given options.

I was there to shoot a story about ‘island restoration’ in the
east coast of Africa in Indian Ocean.

Options:

1. » I was there

2. = shoot a story

3. = the east coast

4. v in Indian Ocean

Question Number : 124 Question Id : 54592721334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the fragment Iin the sentence which contains the

grammatical error from the given options.

| was there to shoot a story about ‘island restoration’ in the

east coast of Africa in Indian Ocean.

Options:

1. = | was there
2. % shoot a story
3. % the east coast

4. v In Indian Ocean

Question Number : 125 Question Id : 54592721335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the fragment in the sentence which contains the
grammatical error from the given options.

A study finds that seabirds are being destroy by predators,
fishing, and climate change.

Options:

1. = A study finds

2. v being destroy

3. = predators

4. = and climate change

Question Number : 125 Question Id : 54592721335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the fragment Iin the sentence which contains the

grammatical error from the given options.

A study finds that seabirds are being destroy by predators,

fishing, and climate change.

Options:

1. = A study finds
2. v being destroy
3. ® predators

4. = and climate change

Question Number : 126 Question Id : 54592721336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Emperor penguins is extremely good at staying warm in the
frigid Antarctic winter.

Options:

1. v are extremely good at

2. ® are extreme good in
3. = 1s extreme good at
4. = No substitution required

Question Number : 126 Question Id : 54592721336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

Emperor penguins Is_extremely good at staying warm in the

frigid Antarctic winter.

Options:

1. v are extremely good at
2. » are extreme good In

3. = Is extreme good at
4,

* No substitution required

Question Number : 127 Question 1d : 54592721337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

There are many people who want to know if penguins are as
clever like they are cute.

Options:

1. = are clever like they

2. v are as clever as they
3. # 1s clever as they
4. = No substitution required

Question Number : 127 Question Id : 54592721337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no
need to substitute It, select option No substitution required.
There are many people who want to know If penguins are

as clever like they are cute.

Options:

1. = are clever like they

2. v are as clever as they
3. = Is clever as they

4, = No substitution required

Question Number : 128 Question 1d : 54592721338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The 13th Amendment to the nation’s constitution that
outlawed a practice was ratified in December 1865.

Options:

1. = that outlaw

2. « which outlaws a
3. v which outlawed the
4. = No substitution required

Question Number : 128 Question 1d : 54592721338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

The 13th Amendment to the nation’s constitution that

outlawed a practice was ratifled in December 1865.

Options:

1. = that outlaw
2. = which outlaws a
3. v which outlawed the

4. = No substitution required

Question Number : 129 Question Id : 54592721339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Beginning in the mid-1980s, many American states took note
of the ecological havoc and imposed severe restrictions or
outright bans on the use of plastic.

Options:

1. = take note of

2. = taking note of the
3. = took note in the
4. v No substitution required



Question Number : 129 Question 1d : 54592721339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

Beginning in the mid-1980s, many American states took

note of the ecological havoc and imposed severe restrictions

or outright bans on the use of plastic.

Options:

1. = take note of
2. % taking note of the
3. = took note In the

4. v No substitution required

Question Number : 130 Question Id : 54592721340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

To escape the attention of predators, the birds nest
underground, in burrows, and come and goes only at the

night.

Options:

1. v come and go only at night




2. = comes and goes only at night
3. » comes and goes only at the night
4. = No substitution required

Question Number : 130 Question Id : 54592721340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required.

To escape the attention of predators, the birds nest

underground, In burrows, and come and goes only at the

night.

Options:

1. ¥ come and go only at night

2. » comes and goes only at night
3. = comes and goes only at the night

4, = No substitution required

Question Number : 131 Question 1d : 54592721341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The world has a plastic pollution problem and it’s
accelerating, so 1s public awareness and action.

Options:

1. ¥ but
2. % ds



3. % since
4. = then

Question Number : 131 Question Id : 54592721341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

The world has a plastic pollution problem and it's

accelerating, so Is public awareness and action.

Options:

1. v but
2. % as
3. % since

4. = then

Question Number : 132 Question 1d : 54592721342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

A number of local businesses have started switching to
reusable, washable straws or disposable ones.

Options:

1. = from

2. v already

3. = later

4. = alternatively

Question Number : 132 Question 1d : 54592721342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

A number of local businesses have started

switching to reusable, washable straws or disposable ones.

Options:

1. = from
2. v already
3. = |ater

4. = alternatively

Question Number : 133 Question Id : 54592721343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

We see the tiny outdoor Kkitchen (the oldest in Louisiana)
where the enslaved cook meals for the master’s
family.

Options:

1. = will prepare

2. * will have prepare

3. v would have prepared
4. = might have prepare

Question Number : 133 Question Id : 54592721343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

We see the tiny outdoor kitchen (the oldest in Louisiana)

where the enslaved cook meals for the master’s

family.

Options:

1. = will prepare
2. % will have prepare
3. v would have prepared

4. = might have prepare

Question Number : 134 Question Id : 54592721344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

The Colorado Plateau area—which also covers parts of
Arizona, Colorado and New Mexico—has remained relatively
undisturbed for 600 million years.

Options:

1. = since
2. = alike
3. » aCross
4. v around

Question Number : 134 Question Id : 54592721344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

The Colorado Plateau area—which also covers parts of
Arizona, Colorado and New Mexico—has remained relatively

undisturbed for 600 million years.

Options:

1. = since
2. = alike
3. % across

4. v around

Question Number : 135 Question Id : 54592721345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Once you visit Lake Sunapee in the summer you will count
the days until it’s time to return.

Options:

1. v down
2. % Up

3. = above
4., ® aCcross

Question Number : 135 Question Id : 54592721345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Once you visit Lake Sunapee in the summer you will count

the days until it's time to return.

Options:

1. v down
2. % Uup

3. #= above
4. %= across

Question Number : 136 Question Id : 54592721346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

apples are the star of fall, then strawberries take the
center stage of summer and there’s no better place to snack
on these red beauties than the national park.

Options:

1. = Although
2. v If

3. = Since

4. = Foremost

Question Number : 136 Question Id : 54592721346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

apples are the star of fall, then strawberries take

the center stage of summer and there’s no better place to

shack on these red beauties than the national park.

Options:

1. = Although
2. v If
3. ® Since

4. = Foremost

Question Number : 137 Question Id : 54592721347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Nazare is one of the most attractive beach in Portugal,
with some of the largest waves in the world.

Options:

1. = town

2. = sights
3. v towns
4, = palace

Question Number : 137 Question Id : 54592721347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Nazaré is one of the most attractive beach N

Portugal, with some of the largest waves in the world.

Options:

1. = town
2. = sights
3. v towns

4. = palace

Question Number : 138 Question Id : 54592721348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

The central part of the village is home to nearly thirty
thermal water reservoirs of temperatures and
chemical compositions

Options:

1. = difference
2. » differential
3. = differ

4. v differing

Question Number : 138 Question Id : 54592721348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

The central part of the village 1s home to nearly thirty

thermal water reservoirs of temperatures and

chemical compositions

Options:

1. = difference
2. » differential
3. = differ

4. v differing

Question Number : 139 Question Id : 54592721349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parts of a sentence have been jumbled up. Arrange these
parts in a meaningful order.

are killing the trees in the Sunderbans, (A) the natural wall
that protects (B) rising waters and 1illicit logging (C) the India —
Bangladesh Coast (D)

Options:

1. v CABD
2. = DACB
3. = CBAD
4. = DABC

Question Number : 139 Question Id : 54592721349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Parts of a sentence have been jumbled up. Arrange these

parts In a meaningful order.

are killing the trees Iin the Sunderbans, (A) the natural wall
that protects (B) rising waters and lllicit logging (C) the
India - Bangladesh Coast (D)

Options:

1. v CABD
2. = DACB
3. = CBAD
4. = DABC

Question Number : 140 Question 1d : 54592721350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parts of a sentence have been jumbled up. Arrange these
parts in a meaningful order.

tends to be something (A) Because it seems like a stunt (B)
that NASA has avoided in assignments (C) An all-female
mission (D)

Options:

1. « BCDA
2. v DACB
3. = DABC
4. = BACD

Question Number : 140 Question Id : 54592721350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Parts of a sentence have been jumbled up. Arrange these

parts In a meaningful order.

tends to be something (A) Because it seems like a stunt
(B) that NASA has avoided in assignments (C) An

all-female mission (D)

Options:

1. = BCDA
2. v DACB
3. = DABC
4. = BACD

General English2
Group Number : 8
Group Id: 5459271058
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
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Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English?

Section Id : 5459271058
Section Number : 1

Section type: Online
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Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Sub-Section Number: 1



Sub-Section Id: 5459271268
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54592721351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: “We were warned by conservationists in other countries
that the poachers would eventually come down to Botswana”
he says.

B: Until recently, the southern African country had largely
escaped the scourge of elephant killings.

C: “We have a significant poaching problem—Ilet’s deal with
it,” says Mike Chase: director of the Botswana-based nonprofit
Elephants Without Borders.

D: Botswana—widely considered a safe haven for elephants in
Africa—appears to be suffering.

E. Botswana is estimated to be home to more than 130,000
savanna elephant.

Options:

1. = AEBDC
2. » EBDCA
3. v DCAEB
4. « DCBEA

Question Number : 141 Question Id : 54592721351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: "We were warned by conservationists In other countries
that the poachers would eventually come down to Botswana”
he says.

B: Until recently, the southern African country had largely
escaped the scourge of elephant killings.

C: "We have a significant poaching problem—let's deal with
it,” says Mike Chase: director of the Botswana-based
nonprofit Elephants Without Borders.

D: Botswana—widely considered a safe haven for elephants
in Africa—appears to be suffering.

E. Botswana Is estimated to be home to more than 130,000

savanna elephant.

Options:

1. = AEBDC
2. » EBDCA
3. v DCAEB
4. = DCBEA

Question Number : 142 Question Id : 54592721352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Contaminate

Options:



1. v Pollute

2. = Allergic
3. = Assemble
4. = Assert

Question Number : 142 Question Id : 54592721352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Contaminate

Options:

1. v Pollute
2. % Allergic
3. *= Assemble

4. = Assert

Question Number : 143 Question Id : 54592721353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Extravagant

Options:

1. » Suave

2. v Meagre

3. » Flexible

4. = Capricious

Question Number : 143 Question 1d : 54592721353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the antonym of the given word.

Extravagant

Options:

1. = Suave
2. v Meagre
3. = Flexible
4, = Capricious

Question Number : 144 Question Id : 54592721354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Envious

Options:

1. * Generous
2. » Ominous
3. v Resentful
4. = Auspicious

Question Number : 144 Question Id : 54592721354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Envious

Options:

1. = Generous

2. = Ominous



3. v Resentful
4. = Auspicious

Question Number : 145 Question Id : 54592721355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Faint heart

Options:

1. v Gallant
2. » Decisive
3. = Progressive
4. » Malodorous

Question Number : 145 Question 1d : 54592721355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Faint heart

Options:

1. v Gallant
2. » Decisive
3. = Progressive

4. = Malodorous

Question Number : 146 Question Id : 54592721356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the correct pair of homophones to fill in the blanks.

The debut singer was showered with on her new

popular song. The dress she brought for the party didn’t
her style.

Options:

1. * complements, compliment
2. v compliments, complement
3. » compliment, complements
4. = complement, compliment

Question Number : 146 Question Id : 54592721356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct pair of homophones to fill in the blanks.

The debut singer was showered with on her

new popular song. The dress she brought for the party didn’
t her style.

Options:

1. * complements, compliment
2. v compliments, complement
3. = compliment, complements

4. = complement, compliment

Question Number : 147 Question Id : 54592721357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Exagerate
2. = Advertise
3. « Dilemma



4. = EXistence

Question Number : 147 Question Id : 54592721357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Exagerate
2. * Advertise
3. = Dilemma

4. = Existence

Question Number : 148 Question Id : 54592721358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word

Options:

1. = Mysterious
2. v Divergant
3. = Privilege
4. » Omission

Question Number : 148 Question Id : 54592721358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word

Options:

1. = Mysterious
2. v Divergant
3. = Privilege
4. = Omission

Question Number : 149 Question Id : 54592721359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the wrongly spelt word.

Options:

1. = Opulent
2. = Integrity
3. v Supress

4. = Censure

Question Number : 149 Question Id : 54592721359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the wrongly spelt word.

Options:
1. = Opulent
2. = Integrity

3. v Supress

4. = Censure

Question Number : 150 Question Id : 54592721360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

On the dot

Options:

1. v At the exact time specified
2. » At the last minute

3. = In small numbers

4. = In short

Question Number : 150 Question Id : 54592721360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the meaning of the given idiom.

On the dot

Options:

1. v At the exact time specified
2. % At the last minute
3. = |In small numbers

4. = In short

Question Number : 151 Question Id : 54592721361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

To cross one’s mind

Options:

1. = To disagree

2. v To be thought of by one
3. » Be caught in a dispute
4. = To memorize

Question Number : 151 Question Id : 54592721361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

To cross one’s mind

Options:

1. = To disagree

2. v To be thought of by one



3. = Be caught in a dispute

4. * To memorize

Question Number : 152 Question Id : 54592721362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Under the weather

Options:

1. = To face criticism

2. » Be under somebody’s influence
3. v To be mildly ill

4. = In rainy season

Question Number : 152 Question 1d : 54592721362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Under the weather

Options:

1. = To face criticism
2. » Be under somebody’s influence

3. v To be mildly ill

4. = In rainy season

Question Number : 153 Question Id : 54592721363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of words
given.

A small group of people having control of a country or an
organization

Options:

1. v Oligarchy
2. » Anarchy

3. = Monopoly
4. = Aristocracy

Question Number : 153 Question 1d : 54592721363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

A small group of people having control of a country or an

organization

Options:

1. v Oligarchy
2. = Anarchy
3. = Monopoly
4. = Aristocracy

Question Number : 154 Question Id : 54592721364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of words
given.

A partial or total loss of memory

Options:

1. = AXiom

2. v Amnesia
3. = Anatomy
4. = Antidote

Question Number : 154 Question Id : 54592721364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

A partial or total loss of memory

Options:

1. = Axiom

2. v Amnesia
3. = Anatomy
4. = Antidote

Question Number : 155 Question Id : 54592721365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A person knowing or using several languages

Options:

1. = Polymorph



2. = Fanatic
3. v Polyglot
4. = Invigilator

Question Number : 155 Question Id : 54592721365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

A person knowing or using several languages

Options:

1. = Polymorph
2. = Fanatic
3. v Polyglot

4. = Invigilator

Sub-Section Number: 2
Sub-Section 1d: 5459271269
Question Shuffling Allowed : Yes

Question Id : 54592721366 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

QQuestion Label : Comprehension



Answer the questions based on the following passage.

Organic farming is a method of crop and livestock production
that involves much more than choosing not to use pesticides,
fertilizers, genetically modified organisms, antibiotics and
growth hormones.

Organic production is a holistic system designed to optimize
the productivity and fitness of diverse communities within
the agro-ecosystem, including soil organisms, plants, livestock
and people. The principal goal of organic production is to
develop enterprises that are sustainable and harmonious
with the environment.

Organic farming promotes the use of crop rotations and cover
crops, and encourages balanced host/predator relationships.
Organic residues and nutrients produced on the farm are
recycled back to the soil. Cover crops and composted manure
are used to maintain soil organic matter and fertility.
Preventative insect and disease control methods are practiced,
including crop rotation, improved genetics and resistant
varieties. Integrated pest and weed management, and soil
conservation systems are valuable tools on an organic farm.
Organically approved pesticides include “natural” or other
pest management products included in the Permitted
Substances List (PSL) of the organic standards. The Permitted
Substances List identifies substances permitted for use as a
pesticides in organic agriculture. All grains, forages and
protein supplements fed to livestock must be organically
SrowllL.

The organic standards generally prohibit products of genetic
engineering and animal cloning, synthetic pesticides,
synthetic fertilizers, sewage sludge, synthetic drugs, synthetic
food processing aids and ingredients, and ionizing radiation.
Prohibited products and practices must not be used on
certified organic farms for at least three years prior to
harvest of the certified organic products. Livestock must be
raised organically and fed 100 per cent organic feed
ingredients.

Organic farming presents many challenges. Some crops are
more challenging than others to grow organically; however,
nearly every commodity can be produced organically.



Sub questions

Question Number : 156 Question Id : 54592721367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The purpose of the passage is to:

Options:

1. v Throw light upon the concept of ‘Organic Farming’ in
general.

2. = Highlight the importance of organic farming

3. » To show that it’s a poor alternative to other methods of
farming

4. = To describe threats associated with organic farming

Question Number : 157 Question 1d : 54592721368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the words with their meaning:
a. Diverse

h. Principal

¢. Harmonious

d. Tuneful

e. Important

f. Different

Options:

1. = a-d, b- e, ¢-f
2.vaft be,cd
3.=a-eb-dcf
4. = a-d, b-f, ce

Question Number : 158 Question 1d : 54592721369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, which of the following statements is
NOT true with regard to organic farming?

Options:



1. = Organic production is a holistic system

2. = It aims at creating sustainable and harmonious
environment

3. v Organic farming doesn’t promote the use of crop
rotations and cover crops

4. = OQrganic farming prohibits products of genetic engineering

Question Number : 159 Question Id : 54592721370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, preventative and disease control
methods do not include one of the following:

Options:

1. = Crop Rotation

2. = Improved Genetics
3. = Resistant Varieties
4. v Protein Supplements

Question Number : 160 Question Id : 54592721371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Prohibited products and practices must not be used on
certified organic farms for:

Options:

1. v At least 3 years

2. * At most 3 years

3. % 3105 years

4. = More than 3 years

Question Id : 54592721366 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Answer the questions based on the following passage.

Organic farming is a method of crop and livestock
production that involves much more than choosing not to
use pesticides, fertilizers, genetically modified organisms,
antibiotics and growth hormones.

Organic production is a holistic system designed to optimize
the productivity and fithess of diverse communities within
the agro-ecosystem, including soil organisms, plants,
livestock and people. The principal goal of organic
production is to develop enterprises that are sustainable and
harmonious with the environment.

Organic farming promotes the use of crop rotations and
cover crops, and encourages balanced host/predator
relationships. Organic residues and nutrients produced on
the farm are recycled back to the soil. Cover crops and
composted manure are used to maintain soil organic matter
and fertility. Preventative insect and disease control methods
are practiced, including crop rotation, improved genetics and
resistant varieties. Integrated pest and weed management,
and soil conservation systems are valuable tools on an
organic farm. Organically approved pesticides include
“natural” or other pest management products included in the
Permitted Substances List (PSL) of the organic standards.
The Permitted Substances List identifies substances
permitted for use as a pesticides in organic agriculture. All
grains, forages and protein supplements fed to livestock
must be organically grown.

The organic standards generally prohibit products of genetic
engineering and animal cloning, synthetic pesticides,
synthetic fertilizers, sewage sludge, synthetic drugs, synthetic
food processing aids and ingredients, and ionizing radiation.
Prohibited products and practices must not be used on
certified organic farms for at least three years prior to
harvest of the certified organic products. Livestock must be
raised organically and fed 100 per cent organic feed
ingredients.

Organic farming presents many challenges. Some crops are
more challenging than others to grow organically; however,

nearly every commodity can be produced organically.



Sub questions

Question Number : 156 Question Id : 54592721367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The purpose of the passage Is to:

Options:

1. v Throw light upon the concept of ‘Organic Farming’ In

general.
2. = Highlight the importance of organic farming

3. = To show that it's a poor alternative to other methods

of farming

4. = To describe threats associated with organic farming

Question Number : 157 Question Id : 54592721368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the words with their meaning:
a. Diverse

b. Principal

c. Harmonious

d. Tuneful

e. Important

f. Different

Options:

1. = a-d, b- e, cf
2. v a-f, b-e , c-d
3. % a-e, b-d, ¢ f
4. = a- d, b- f, c-e

Question Number : 158 Question 1d : 54592721369 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

According to the passage, which of the following statements

Is NOT true with regard to organic farming?

Options:
1. = Organic production is a holistic system
2. = |t aims at creating sustainable and harmonious

environment

3. v Organic farming doesn’t promote the use of crop

rotations and cover crops

4. = QOrganic farming prohibits products of genetic

engineering

Question Number : 159 Question Id : 54592721370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, preventative and disease control

methods do not include one of the following:

Options:

1. = Crop Rotation
2. » Improved Genetics
3. = Resistant Varieties

4. v Protein Supplements

Question Number : 160 Question Id : 54592721371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Prohibited products and practices must not be used on

certiflied organic farms for:

Options:

1. v At least 3 years



2. » At most 3 years
3. = 3 to & years

4, = More than 3 years

General Hindi1l

Group Number : 9
Group Id: 5459271059
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Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
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Question Number : 161 Question Id : 54592721372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # ¥ TQET T Dl I hI=-4T g2

Options:

1. v @

2. % Hgled
3. % GiaRId



4. * VLT

Question Number : 161 Question Id : 54592721372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fret & & ICIEY AT FT 3ETEL0T FleT-AT &7

Options:

1. v 3Tl
2. = Fged
3. = Hrarrd
4. % Thoo

N

Question Number : 162 Question Id : 54592721373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # & e GTEr T ICTgLur i -4T g2

Options:

1. v gIicg
2. % 3TENIA

Question Number : 162 Question Id : 54592721373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFa & O Ta¥ i T 33807 HiaT-ar g7

Options:

1. v AT

o,

2. % 3TeNITTT
3. = forem
4. » TSTTHT

Question Number : 163 Question Id : 54592721374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I & Se[C, § U U TEl 8-




Options:

1. = I
2. v BQUA
3. * FTSNUT
4. = PprefTu-

Question Number : 163 Question Id : 54592721374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fiel T 65 H Uel UcTT 6T &-

Options:

1. = S<IYaf

2. v B
3. % oISchdd
4. = FHTTYeT

Question Number : 164 Question 1d : 54592721375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl o] # 9 TEEH e ST DIT-

Options:

1. v =feenr
2. % AIq

3. = 9Eq
4. % RS

Question Number : 164 Question 1d : 54592721375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Il &T elear # & dEdH 2Te ATd shilol-

Options:

1. v TT¢eRT
2. » AT
3. % A&




4. = =T

Question Number : 165 Question Id : 54592721376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

THHATel G # 9 hl--9T Fel=TH &l e Tg1 8-

Options:

1. » JeUdrh
2. ¢ YTddTh
3. » goyara®
4. = [srares

Question Number : 165 Question Id : 54592721376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafEa & & Fia-a7 gdaTd 7 3 787 &

Options:

1. = ghqqmqw

2. v HIgdrreh
3. = OFUaTrd<h

4. = ToleTardeh

Question Number : 166 Question 1d : 54592721377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # ¥ 3¢ Uil A9C; DI 47 8-

Options:

1. = gi¥
2. % T
3. % gg
4. v T

Question Number : 166 Question 1d : 54592721377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fre & & 31[g YA e HidT AT &-

Options:




N
4
3

v dT

Question Number : 167 Question 1d : 54592721378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30D Teeltd # F Repd AT WiT-

TH AT FervTe & & T o4 -

Options:

1. » 3rerd
2. % THIR
3.v3T

4, » gIU

Question Number : 167 Question 1d : 54592721378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3UgFd faeld & & Red Tare si=-

TH 9 @A o & dl ol&THOT --------

Options:

1. = 37l
2. = IR

3. v 39

4. = TIId

Question Number : 168 Question Id : 54592721379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl T # 9 IS UdTaeTeil e HIFT-9T g-




Options:

1. = TUeIT

2. % digd
3. = gy =T
4. v gaOAT

Question Number : 168 Question Id : 54592721379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d & & 31g wATgardr eree HhiT-a1 &-

Options:

1. = ITeT
2. = dfgud
3. = @lar fHeir
4. v FeIToT

Question Number : 169 Question 1d : 54592721380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4, T TereI 216 AT &-

Options:

1. » gith
2. % qUII
3. v Hgl+d
4. % gIdr

Question Number : 169 Question Id : 54592721380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&l T TdellA ersq T -

Options:

1.« g
2.*%@
3. v HGl



4. « T

Question Number : 170 Question Id : 54592721381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

"SI @l Yool SBT TGAT a1pdiel # ¥ 1&U T Tddelul # ¥ IUGHd e[S
gy

Options:

IRAESIEL
2. % SlTerer
3. = Jfa®

4. = SATD

Question Number : 170 Question Id : 54592721381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'Sat T Teel STT AT e H & v ) ket H @

 —
SUAGd s AU
2 2

Options:

1. ¢ TSiasT

2.
3. = Sdeh
4. » SeHTR

Question Number : 171 Question Id : 54592721382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ste TEU 77 oI fedhorul # 3TEIT (dHel) SI€E BT ag Bl

Options:

1. = OTerdT
2. % VTl
3. % TOT&T

4. v Ty

Question Number : 171 Question Id : 54592721382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




A U 910 IR fashedt & 39T (S8 o T I

Options:

1. = 9radr
2. = ATl
3. » ffeT
4. v fasomady

Question Number : 172 Question 1d : 54592721383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g T TeleTI 99 &-

Options:

1. v TaUTE
2. faug
3. = AUy
4, = T

Question Number : 172 Question 1d : 54592721383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&Y &l TdollH ersq §-

Options:

1. v TavTg
2. = faarg
3. = fauer
4. = faguer

Question Number : 173 Question Id : 54592721384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THATel G # & ehl<-9T Teh ZIH GHTATLT 3-

Options:

1. = 31ETH-UH
2. v HIT- G




3. = MT-UTHT
4. * IT-GIL

Question Number : 173 Question 1d : 54592721384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farfa@a & & Hia-87 U J7A FATATL -

Options:

1. = 37cTel-Yald
2. v AR-YeldTd
3. % 3{RET-9Talr

4. = -

Question Number : 174 Question Id : 54592721385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i T e @1 95T 3rd Tdehe[u # & GINIT-
3ATRADT-2PT

Options:

Question Number : 174 Question 1d : 54592721385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A fAzarder ersg w1 TEr 37 faskeq A & @ferv-
HTLTRT-2TeRT

Options:
1. v ST-TE

2. * ST-JHTI

3. « Hg-at




4. « sT-foAeT

Question Number : 175 Question Id : 54592721386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ATHSATT BT LMieed 31 DIT-9T 3

Options:

1. * 3T B ATe]
2. v oAl

3. = Uga

4 = SNELRU

Question Number : 175 Question Id : 54592721386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT FT eMfsgar 377 Hia-AT &

Options:

1. » 3T o el
2. v el

3. » gl

4. % SEEFOT

Question Number : 176 Question 1d : 54592721387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAHATCl T ATRd @ TolT T8 MY Teiepe(dl # & Ik YR Fivgd iy

'ag DI WA g, ST AYSTUAT AGITAT & T8 & TR 7 ghmm

Options:

1. * Tl AP
2. « S T
3. v My arpg
4. » ITATH

Question Number : 176 Question Id : 54592721387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafeiEa g & fov 2w a0 &Fedl & 8 3% TR
Rifeea Frere-

'TE i HAAT &, ST TSEUAT HASIcAT o oatF & gR™a o
&

Options:

1. = Il ATy

2. = H-{-chifd GIER)
3. v & g
4. = IUATFT

Question Number : 177 Question Id : 54592721388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d & | Fla-3T1 qg a7 &-

Options:

1. * FITT FT FS ToH AYRAA &

2. » AYIAH § I FT F0

3. v HII Pl hS HYIAH Y

4. % HS HIIA I HLYITH &

Question Number : 177 Question Id : 54592721388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & & P-a7 g aTPT &

Options:

1. * DIl BT HS FoId TYIAH &
2. % HYIIH g hidel BT
3. v DYl BT D AYLIH 3
4. * S DT DT TYIAT &




Question Number : 178 Question Id : 54592721389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rreefeiid 7 & T e TR g g

Options:

1. * 3T

Question Number : 178 Question Id : 54592721389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ # @ AdT 1 TAIMeldr AT B191-

Options:

1. = AdV
2. = aAdraft
3. = aidr
4. v &

Question Number : 179 Question Id : 54592721390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl 1 aTepd & Telq 18U MY Terehe(ul # ¥ 3Heh YenTT Ilivgd hiy-

'IG UAET &L, T 3 GWherdr 7 el

Options:

1. * 9o dTpd
2. % Ty G

3. v 9gqd a1gd
4. = 3T AP

Question Number : 179 Question Id : 54592721390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT &g areFg & T U a0 deedl # & 30

Ffegd hifoTe-

e T{TeT &, foh 38 Aherer o el

Options:

1. = Il diay

2. = TR areg

3. v {-i-l_-ljci—d GIETS)

4, = 3T grd

Question Number : 180 Question Id : 54592721391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e G § & g a1 DIT-97 3-
Options:

1. » S9EX th D €T g
2. % ®Y SEN & Dl §
3. * SYEN & 3D g

4. v S h AN TG

Question Number : 180 Question Id : 54592721391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IGESIGIEC R ) UE qATFY HiaT-aT &-

Options:

1. » $2aC & 3alehl &7 &
2. » ¥ 52d¢ o 3Melhl &
3. = 32T FT 3folhl &

4, v 32T & 3ok &7 g

Aeh|X



Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

General Hindi?

10
5459271060
0
120
No
No
0
20
No
Yes
0

0

General Hindi2

Section Id : 5459271060

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271271
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592721392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

[Tl # & "qqIaTT T LAl T HaT gHT-

Options:

Question Number : 181 Question Id : 54592721392 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

AT Ed # & 'Gcadlel Rl TATTeldl AT I9TT-

Options:

1. % gcgdrar



2. v GIAAT
3. ® GcATal

4. = FcITaToil

Question Number : 182 Question Id : 54592721393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HgTedt aT = PrAATY el TG TP Tha PIeT BT 8-

Options:

1. = TgdHTIDT]

2. % UTAqdehTel

Question Number : 182 Question Id : 54592721393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AsIedT AT & FEAae @ Ig a=g Fa F1a F1 &-

Options:

1. % TAHTeTRT

2. % TASThTel
3. # qUT Tl
4, v tgn‘r GEIE]

Question Number : 183 Question 1d : 54592721394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U 9o GET Tgd gl Tg Tchd UhI DT e g-

Options:

1. v Gl ATHY

2. % GFPd AT

3. * YT AThd
4. = yared

Question Number : 183 Question Id : 54592721394 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

HAST Fad & @ €1 Tg T TR T arerg g-

Options:

1. v O3 Ay

2. % {-i*’:-ljci'd CIER?

3. % Yeddid<sh dlady

4. = THsEeT

Question Number : 184 Question Id : 54592721395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS, T T QT i THol
Tg STpd Thd hlel P 3-

Options:

1. * gAATIHRT

2. v GUNIHS QI dIel
3. * qd Pref

4. = Ul Ydrel

Question Number : 184 Question Id : 54592721395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eTIE FHT Ieal Tl hI THol
IJg TTFT Tord hTel T §-

Options:

1. % TAHTIRT

2. v OHEIHASTHRT
3. » 8 el
4. * O SfRIer

Question Number : 185 Question Id : 54592721396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T # 9 € T Jgera- &7 AT ghT-




Options:

1. = g3
2. % TIY

3. v 84U
4. % €U

Question Number : 185 Question Id : 54592721396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafEa & & 99 FT sgadgsl ¥ FI1 gHTT-

.
2. = 7T
3. v ¥e0
4.

Question Number : 186 Question 1d : 54592721397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT G # ¥ U4 &r ager= €7 HT -

Options:

Question Number : 186 Question 1d : 54592721397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFfe@a & | g&lr & Sgade ¥ F1 gaTT-

Options:

1. = 9Ty
2.&*?&%@
3. « Tiear




4. = qrEAT

Question Number : 187 Question Id : 54592721398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

W &l Aol e DIF-4T g-

Options:

1. v Ha T

Question Number : 187 Question Id : 54592721398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI T TAITIT 216G hial-aT &-

Options:

1. v HIE=T
2. = @S
3. = sTaTfeaT
4, = safear

.

Question Number : 188 Question 1d : 54592721399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&l SeE] @l SIS @ ToQ [chd FIN[g T WA TchaT ST 8-

Options:

1. » e g
2. % ML T (g
3. v Il ToIg

4. » TIAATICHTYS g

Question Number : 188 Question 1d : 54592721399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl eTeg] I SASa & Tolv foog Reg &1 9aer fovar Jdar &-

Options:




% ToTdersh i%rg
x 3eer Teg
v Aotk Ieg

« faeaanfeaas g

Question Number : 189 Question 1d : 54592721400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TehdT S S[C, DI WU # Tel @ TolT A T UgelT & TolGhT 3N
3T fehg Toreg @1 W grar

Options:
1. » DIYSHIIg
2. v olTUdTg

3. * oA g

4, % g9 U ISIh g

ol

Question Number : 189 Question Id : 54592721400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRET §2 o6 o TU& H oE@d & o7 eeg &7 UgaT 38T
forgeRy 30 39 fohg Rieg &1 w9 8iar

Options:

1. * PISGHIUTE

2. v dEad<es

3. = AR

4, = g UG ol ea

Question Number : 190 Question Id : 54592721401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

31T R oA GGTer T 31 T 3-

1. = e@r AT
2. % TPl Il




3. % 3FET B
4. v giddpel gI-I

Question Number : 190 Question Id : 54592721401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'3 WY ol HETa R 37T F4T &-

Options:

1. = o@r e
2. el gl

3. % 3ICET hidl

4.&*9‘%@%

Question Number : 191 Question Id : 54592721402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"gAeil UL GLET STHTAT T hr 371 §aT -

Options:

1. * G TSAT

2. % ZHTT oi]

3. v 3rgYe HTH TLAT
4. * LETATT HA]

Question Number : 191 Question Id : 54592721402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl IT TLH! STATST FHBAY FT 379 7 §-

Options:

1. = 38T g1

2. * BN AT ol

3. v 3THAT FTH FLal

4., = TUTATT hladl

Question Number : 192 Question 1d : 54592721403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SIS IS SIEE, aTpd H To1@- ¥ YT Y 31X I e il AT h FUT fel@r
ST, dF U9 39 <Te[C, i 31 e A o 1ol Tebd AT T=[g el 0T
T ST 3-

Options:

1. » YT AP TG
2. v g9 [ g

3. * TN g

4. * SeQUraR g

Question Number : 192 Question Id : 54592721403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIS HIT o ey H formel @ &¢ SV 3iN 39 o 1 gy
F IO TolET SQ, ar o8 § 39 95 I MY Gohd Fla & ow
e A Reg &7 9T fRaT STaT 2-

Options:

1. » G819 gereh eg

v 39S TIeg

2.
3. = Jloleh "Ied
4, = 3euauH RIeg

Question Number : 193 Question Id : 54592721404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T QU 9 I oflentich or 37 T 872

Options:

1. v T4t G BT <@ g1 AT AT Qg [¢TS gt &
2. » TAT agATH Fere@m™ ! aggy Td
3. * T4t a3t # Taeems QT aggai # 91 1 o fereend

4. » QAT orgqU feehrs: g7 gidr 8

Question Number : 193 Question Id : 54592721404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT Al feeT Qe | fae eRifeha ST 31T T B2

Options:

1. v o g& T {aeam 18l e Qe acqu ez giar &
2. » AT TEIA Taeard qaeil aEv ZHTe

3. « ofAT aE3 A faeard Qe awgst # |t e & favary
4. » Q&I FEJV fewTz F@T T &

Question Number : 194 Question 1d : 54592721405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"CIUT IBTeT gTae o 31 T 3-

Options:

1. % GHATT BT
2. v AT HEAT
3. % G

4. » TG STAMT

Question Number : 194 Question 1d : 54592721405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 3STeleT HETA T 3T T &-

Options:

1. = GFHATTT el
2. v UATAT LT
3. % Sgla SoATell

4. » ATTAT STHTT

Question Number : 195 Question Id : 54592721406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I ST STNTST 3T 7T T [, elieniiah ol 3ref T &-

Options:

1. v &g & MeTg U GHA gl HotdT
2. % @IS H QAT A1 Hetdm




3. * Qog o Moy # AT [Herdl g
4. % gerd o @ TTer § GHATT g1 Werar

Question Number : 195 Question 1d : 54592721406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T SN SALTST 3Tl g T G dlehlidrd T 37T FAT §-

Options:

1. v TGT & g 9T GFATT a8 fAerar
2. = GEX 9G H GFATS g [Herdr

3. * TgT & ooy A g&A Fedr §

4. » TGT g GEY g H GFATST oTar fHerdr

Sub-Section Number: 2
Sub-Section 1d: 5459271272
Question Shuffling Allowed : Yes

Question Id : 54592721407 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

QQuestion Label : Comprehension



Téar: =i Tl 3rUTSd MErier l Uie: T 3T WL T Iqa Iyl

“¥ 31 farwar & g MeeT T ATgar g oh Aud @ gl g & St feh
gI= @l o1g Uy 3T gl TelTd, TelTel g, 31X <Hedl, e, 3R SRI-gil B
TendT & 7 BICT g, T I<ST g1 T[elTel bl THeAT g1 BT § 3T TAHeAT T IET
T3l gINT g1 I BIC-TS 3R Ji-+1a &l Fe[ITehT UheH FOT TR 3T 3
39 Ho[dich i TUC Dl Did TAR § ST gl gidT g 37T T g T5TdT
TerdiT & TTST 31 U SMYATID AYEUTd GI7 & ST ZT gI SITaT gl e T
g gl SHH eTehT TUAT-37UT AT ZIdT g 3T Felehl ITALITDhAT §
3R Jrardar g1 erdt & 919 ue; 3R uidyer Sie & 918 gFar =g
e 1 RTATET ¥ T T 3 A g I s T v 2 372

Tg HgqAYUl g Teh TelTel el S[gT giv T JUSLT 1T ST 2T T T & Gool
ol el B th ToTq IHETAT ST STAYUT ST S+t a1 g Teh Telrel T
Farentar gt 37 oTe 7 Goer |t 7 Frni A gl 3aht Ugfs 2t arferaad 1
g STY 3R 3T Fare 38 g & 7 g S gud &t d9reE] gi
T gr, 39ch AT Siia @I 3T DS 3T gl g T TALT & drd

<l TP 1T Tg! 3l

=~ . =
SWRIpd TN & IR HITT Bl HIT &1 ATTgU-

Sub questions

Question Number : 196 Question Id : 54592721408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JWIpd TSl @ AR AFUT DI BT T dATigyl

Options:

1. v 310 AT 31 T[0T T TIehld AT Mgy

2. % WG &= ATy

3. * GAIAH a7 DTGy
4, » I TeIT TSN F=T AT

Question Number : 197 Question Id : 54592721409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




SURId TN th ITHR oITel bl S[gT ST H AT AT g2

Options:

1. * SEIA i TehoT DL

2. * TEIA G YHTIed gl

3. % 37U o€y HI TN

4, v IUAT GEEY [ANTRL SEHU b UT AT

Question Number : 198 Question 1d : 54592721410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JWId TTENier @ IR HEdd T UNTelu pdl G TGl g7

1. * U 3R YIdYaT ch IR
2. % ST g9 & T
3. v Bl B FAT-A T AT P B

4. » YIdyaT & I

Question Number : 199 Question Id : 54592721411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

SURId TN th IR Yol dh Dl dgl 37 HAT 7

Options:

1. » [T
2. % AT
3. ¢ 3Theld
4. % TUOHT

Question Number : 200 Question 1d : 54592721412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JURIpd TTENier @ 3TTER MENSr T HaT e il g?

Options:

1. » Sitere ol eIy

2. v SIa @l STATDIE
3. * g I g TP AT
4. » FA--rar & refar




Question Id : 54592721407 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



forder: ofar ford 3r9feSa arezmer i UfenT 3 woad &7 3cci
= o

“H 3T Aeadr 8@ I fodes HLem aedr g 6 #qeg H
aﬁrsﬁﬁ&aﬁ%mﬁaﬁﬁagm%l TelTel, el &, 3N
TR, Ao, N S-S FIg fFdT @ o BT g, 7 37 &
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Sub questions



Question Number : 196 Question 1d : 54592721408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3UNFT ACHTET & IHeJHR HesT I FIT Falell AMET|

Options:

1. v 379 T 3 IO KT fdhry FTa1 =180
2. % Hgle Saal gy

3. * JalcdH Selell MU

4. » gk TIT AHET FolalT AT

Question Number : 197 Question Id : 54592721409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

STIFA TN F AN TS T ST Fellal H AT Tl &7

Options:

1. % GEI T ofehel el
2. « GEU ® THTAT &lel

3. % 3T TTET hl IETT

4. v 396 TG IETRT GERT & dTed HIaTeT

Question Number : 198 Question 1d : 54592721410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SWIFT IS & HTHR HAEcd T FETedel FAT 5 8T &7

Options:

1. = 9g 3R ufdsar & sHRoT

2. = ST-Ar gl oh RO

3. v HIAT I FAT-=T Alelal s HROT
4. % YfasaT & FHIOT

Question Number : 199 Question Id : 54592721411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




ST ITCHTET o 3TGTHR HedTshal T HWET 37T FAT §7?

Options:

1. = ot
2. % T
3. v 3Theldd
4, = &

Question Number : 200 Question Id : 54592721412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST IS & AR IR KT Fa7 f¥h 3T &7

Options:

1. % SAIdel hl TT&Y

2. v SAIdel RT 3cHTARTE

3. » gRT 97 § T AT

4, % FT-arg Hr 3rdar



